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Child Development and Pedagogy
1.	 Assertion (A): Children are unable to learn optimally 

when they are undernourished or unwell.
	 Reason (R): All domains of development are inter-

related-physical development has an impact on 
cognitive development.

	 Choose the correct option.
(1)	 Both (A) and (R) are true and (R) is the correct 

explanation of (A).
(2)	 Both (A) and (R) are true but (R) is not the correct 

explanation of (A).
(3)	 (A) is true but (R) is false.
(4)	 Both (A) and (R) are false.

2.	 Which principle of development does this illustrate: 
The child learns to stand before she can walk and 
babble before she talks?
(1)	 Development is sequential
(2)	 Development proceeds from head to toe
(3)	 Development is disorderly
(4)	 Development progresses from centre to the 

extremities.
3.	 Assertion (A): Children learn the knowledge, skills, 

values and customs of the society only through 
formal agencies.

	 Reason (R): Socialization is a simple and linear 
process that takes place in a well-planned manner.

	 Choose the correct option.
(1)	 Both (A) and (R) are true and (R) is the correct 

explanation of (A).
(2)	 Both (A) and (R) are true but (R) is not the correct 

explanation of (A).
(3)	 (A) is true but (R) is false.
(4)	 Both (A) and (R) are false.

4.	 Jean Piaget’s constructivism proposes that 
children progress through four stages of cognitive 
development primarily:
(1)	 by acting upon the environment.
(2)	 through social interactions with more 

knowledgeable others.
(3)	 by imitation of others.
(4)	 through anticipation of rewards.

5.	 According to Jean Piaget, at which stage of cognitive 
development can children ‘operate on operations’ 
and perform hypothetico-deductive thinking?
(1)	 Sensori-motor Stage
(2)	 Pre-operational Stage
(3)	 Concrete Operational Stage
(4)	 Formal Operational Stage

6.	 ...............  is very important in Lev Vygotsky’s theory 
for cognitive development of children.
(1)	 Cultural tools	 (2)	 Maturation
(3)	 Punishment	 (4)	 Adaptation

7.	 One of the major differences in the theories of Jean 
Piaget and Lev Vygotsky is:
(1)	 Piaget emphasized on the role of language in 

cognitive development.
(2)	 Vygotsky gave primary importance to hereditary 

capacities in learning.
(3)	 Vygotsky emphasized the role of culture in 

cognitive development.
(4)	 Piaget gave importance to what the child can 

do on her own as well as what she can do with 
support.

8.	 Carol Gilligan critiqued Lawrence Kohlberg’s theory 
of moral development by arguing that men have 
morality of ...............  while women have morality of 
............... .
(1)	 justice; care
(2)	 care; justice
(3)	 goodness; sacrifice
(4)	 sacrifice; goodness

9.	 Which of the following is a correctly matched pair of 
the type of intelligence and the end state possibilities 
as per the theory of Howard Gardner?
(1)	 Intelligence-Linguistic, End State Possibility- 

Accountant
(2)	 Intelligence-Spatial, End State Possibility- 

Architect
(3)	 Intelligence- Bodily kinesthetic, End State 

Possibility- Singer
(4)	 Intelligence-Naturalistic, kinesthetic-Teacher

10.	 National Education Policy 2020 considers 
multilingualism
(1)	 as a hindrance in children’s learning.
(2)	 as an asset in the classrooms.
(3)	 as a unnecessary complication in teaching-

learning process.
(4)	 as a barrier to inclusive education.

11.	 In child-centered education, assessment
(1)	 is undertaken through few periodic examinations.
(2)	 takes place through written objective type tests.
(3)	 does not take place at all.
(4)	 is considered an integral part in the process of 

learning.
12.	 What does National Education Policy 2020 propose 

for retention of students from socio-economically 
disadvantaged groups?
(1)	 Rote learning
(2)	 Standardisation of curriculum and assessment
(3)	 Performance-oriented testing
(4)	 Relatable and meaningful curriculum
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13.	 In several middle school classrooms it is observed 

that boys often raise their hands to answer more than 
girls and tend to dominate classroom discussions. In 
such context, the teacher should
(1)	 accept that boys are more intelligent than girls.
(2)	 accept that girls do not have the potential to 

study in middle class.
(3)	 analyze how gender differences are inborn and 

cannot be modified.
(4)	 analyze the context of the children and her own 

pedagogy.
14.	 Which of the following defines a progressive 

classrooms?
(1)	 Learning for exams
(2)	 Focus on experiential learning
(3)	 Decontextualized curriculum
(4)	 Teacher centric pedagogy

15.	 Which of the following questions tests higher-order 
thinking skills such as analysis and evaluation?
(1)	 What differences do you find between private 

and public health services in your area and why?
(2)	 What does the Civil Rights Act of 1964 state?
(3)	 How many states are there in India?
(4)	 How are the members of Legislative Assembly 

elected?
16.	 With respect to inclusion of students with disabilities 

in regular schools, which of the following provision 
is against the Rights of persons with disabilities Act 
(2016)?
(1)	 Extra time for completion of examination paper
(2)	 Facility of scribe to meet the students’ needs
(3)	 Compulsory second and third language courses
(4)	 Reasonable accommodation as per individual’s 

needs
17.	 To address the diverse learning needs of the 

students, which of the following is a barrier?
(1)	 Engagement in the activities in multiple ways
(2)	 Expression of opinion in multiple ways
(3)	 Labeling and ranking of students in multiple 

ways
(4)	 Representation of information in multiple ways

18.	 Which of the following learning disability directly 
affects communication skills and comprehension 
abilities?
(1)	 Dyscalculia	 (2)	 Dysgraphia
(3)	 Dysphoria	 (4)	 Dysphasia

19.	 To ensure the successful inclusion of students with 
Dysgraphia, it is important to:
(1)	 allow use of audio recorder or a laptop in class
(2)	 extensively use written tests for assessment
(3)	 make it compulsory to write on plain/unruled 

sheets
(4)	 set fixed timeline to finish the given work

20.	 Which of the following is NOT a characteristic of 
student with ‘creativity’?
(1)	 Their problem-solving skills are of higher order
(2)	 They can solve problems through divergent 

ways
(3)	 They have low sense of curiosity to learn new 

topics
(4)	 They often come up with novel ideas and 

innovations

21.	 Teachers in a middle grade classroom should:
(1)	 be open to make adaptations as per learners’ 

needs
(2)	 focus their attention majorly on high achievers
(3)	 ignore learner diversity in the classroom
(4)	 use one standardized mode of assessment only

22.	 Assertion (A): While teaching a concept, a teacher 
should encourage her students to brainstorm the 
instances and examples of contrast.

	 Reason (R): Non-examples don’t play any role in 
understanding of a concept.

	 Choose the correct option.
(1)	 Both (A) and (R) are true and (R) is the correct 

explanation of (A).
(2)	 Both (A) and (R) are true but (R) is not the correct 

explanation of (A).
(3)	 (A) is true but (R) is false.
(4)	 Both (A) and (R) are false.

23.	 Few students in a class were not able to achieve the 
individual learning goals set for them. In such a 
scenario, a teacher should:
(1)	 consider their failure as dishonourable and 

shameful.
(2)	 expel these students and recommend them to a 

special school.
(3)	 keep very low expectations of success from them 

in future endeavours.
(4)	 view failure as a part of the developmental 

process of learning.
24.	 A teacher intends to assess declarative knowledge 

among her students. Which of the following 
question is appropriate for this purpose?
(1)	 How to bake a cake?
(2)	 How to balance a bicycle on a rough terrain?
(3)	 What is the formula for calculating ‘volume’?
(4)	 What is the procedure of soil preparation for 

wheat plantation?
25.	 A teacher intends to facilitate the development of 

metacognition among her students. Which of the 
following skills won’t be helpful for this purpose?
(1)	 Evaluating	 (2)	 Monitoring
(3)	 Planning	 (4)	 Rote-memorisation

26.	 Constructivist approach considers learning as:
(1)	 disorganised and unilateral
(2)	 idiosyncratic and disconnected
(3)	 interactive and active
(4)	 passive and dependent

27.	 Which of the following step is likely to hinder 
problem-solving skills among students?
(1)	 Activating the schema to comprehend the 

problem
(2)	 Focusing attention on relevant information 

about problem
(3)	 Getting stuck on one fixed way of representing a 

problem
(4)	 Identifying the possible solutions of the problem

28.	 Contemporary perspectives of cognitive 
development view misconceptions as:
(1)	 completely insignifcant and an obstacle for 

teaching-learning process.
(2)	 Higher-order metacognitive skills found typically 

in ‘gifted’ students.
(3)	 Naive ideas and understanding having their 

roots in ones’ past experiences.
(4)	 Neurological deficits and identifying 

characteristics of Dyslexia.
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29.	 Students with performance-avoidance goals focus 

on
(1)	 enjoyment of activity	 (2)	 fear of failing
(3)	 hope of success	 (4)	 sense of pride

30.	 Which of the following set of attributions on success 
or failure on a task is likely to cause increase in 
students’ motivation and attempts to engage in 
similar tasks in the future?
(1)	 External, Non-controllable
(2)	 External, Stable
(3)	 Internal, Stable
(4)	 Internal, Controllable

Mathematics and Science
31.	 –25 × (7 + 3) is not the same as

(1)	 (–25) × 7 + (–25) × 3	 (2)	 (–25) × 10
(3)	 –250	 (4)	 (–25) × 7 × 3

32.	 In Roman Numerals, which of the number is not 
correct?
(1)	 LXIII	 (2)	 XCII
(3)	 LC	 (4)	 XLIV

33.	 Which of the following statement is NOT true?
(1)	 HCF and LCM of two numbers x and y are 15 

and 120 respectively.
(2)	 HCF and LCM of two numbers x and y are 20 

and 250 respectively.
(3)	 LCM and HCF of two numbers x and y are 70 

and 14 respectively.
(4)	 LCM and HCF of two numbers x and y are 300 

and 50 respectively.

34.	 On dividing 2
1
3

2
5

 by , the result is:

(1)	
5
3 	

(2)
	

35
3

(3)
	

35
7 	

(4)
	

35
6

35.	 If A, B and C are digits and
	 			   3	A	 B
	 		  +	A	 B	 1
	 			  C	 1	 8
	 then, value of C is:

(1)	 6	 (2)	 7
(3)	 8	 (4)	 9

36.	 The annual income of Naresh is `5,76,000 and his 
annual savings is `72,000. The ratio of his annual 
savings to his expenditure is:
(1)	 1:5	 (2)	 1:6
(3)	 1:7	 (4)	 1:8

37.	 If 3x + 5 = 0, then the value of x2 – 3x is equal to:

(1)
	

7
7
9 	

(2)
	

7
4
9

(3)
	
−2

2
9 	

(4)
	
−2

1
9

38.	 The coefficient of x2 in the sum of the expressions 
–3x3y2 + 2x2y3 and –3x2y3 – 5y4 is:
(1)	 –3	 (2)	 –y3

(3)	 y3	 (4)	 3

39.	 On dividing (x3 – 5x2 – 24x)(4x2 – 9y2) by x(x – 8)
(2x – 3y), the result is:
(1)	 (x + 3)(2x + 3y)	 (2)	 (x + 3)(2x – 3y)
(3)	 (x – 8)(2x + 3y)	 (4)	 (x – 8)(2x – 3y)

40.	 If		  P	 = 3x2 + y2,
			   Q	 = 2x2 + 3y2,
	 and	 R	 = 4x4 + 5y4 
	 then, P × Q – R is equal to

(1)	 2x4 + 11x2y2 – 2y4	 (2)	 2x4 + 9x2y2 – 2y4

(3)	 2x4 + 13x2y2 + 2y4	 (4)	 2x4 + 10x2y2 + 2y4

41.	 Which of the following figures has a linear symmetry 
but no rotational symmetry?
(1)	 Parallelogram	 (2)	 Kite
(3)	 Rectangle	 (4)	 Rhombus

42.	 Three angles of a triangle are in the ratio 3 : 5 : 4 and 
the greatest angle is x.

	 Then, the value of 4x + 9° is:
(1)	 349°	 (2)	 309°
(3)	 249°	 (4)	 159°

43.	 The sum of the supplement and complement of an 
angle x is 240°. Then, the value of 3x – 20° is:
(1)	 15°	 (2)	 30°
(3)	 25°	 (4)	 50°

44.	 If F, V and E are respectively the number of faces, 
vertices and edges of a hexagonal pyramid, then 
which of the following statement is true?
(1)	 2F + V – E = 8	 (2)	 2F + V – E = 9
(3)	 2F + 2V – E = 15	 (4)	 3F + 2V – 2E = 10

45.	 The lengths of the two diagonals of a rectangle 
ABCD are (6x + 3) and (4x + 7).

	 Then, the value of (6x + 3) + (4x + 7) is:
(1)	 20	 (2)	 25
(3)	 30	 (4)	 35

46.	 Sides of a triangle are of lengths 12 cm, 13 cm and 
5  cm. Then, altitude corresponding to the longest 
side of the triangle is:

(1)
	

4
8

13
cm

	
(2)

	
2

4
13

cm

(3)
	

4
5

13
cm

	
(4)

	
2

9
13

cm

47.	 The perimeter of a trapezium ABCD is 90 cm and 
length of each of its non-parallel sides AD and BC 
is 17 cm. If area of the trapezium is 420 cm2, then 
distance between the two parallel sides of the 
trapezium is:
(1)	 17 cm	 (2)	 16 cm
(3)	 15 cm	 (4)	 14 cm

48.	 The curved surface area of a right circular cylinder is 
one-third of its total surface area.

	 If radius of the cylinder is 8 cm, then volume of the 
cylinder (in cm3) is:
(1)	 256p	 (2)	 128p
(3)	 288p	 (4)	 144p

49.	 If mean of the observations 25, 29, 25, 32, 24 and x is 
27 then median of the observations is:
(1)	 32	 (2)	 27
(3)	 26	 (4)	 25
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50.	 Numbers 10 to 60 are written on separate slips (one 

number on one slip), they are kept in a box and 
they are mixed well. One slip is chosen from the box 
without looking into it. What is the probability that 
the number on the chosen slip is divisible by both 2 
and 3?

(1)
	

1
5 	

(2)
	

3
17

(3)
	

10
51 	

(4)
	

9
50

51.	 Which of the following is NOT true for assessment?
(1)	 Assessment focuses on developing critical 

thinking and problem-solving skills among 
students.

(2)	 Assessment engages students in learning 
process.

(3)	 Assessment provides feedback to teacher to 
improve their pedagogy.

(4)	 Assessment is just a reflection of student’s marks 
in the report card.

52.	 A mathematics teacher records classroom observa-
tion either during or after the lesson by writing 
short notes in a brief narrative style. It is an example 
of maintaining:
(1)	 Rubrics	 (2)	 Anecdotal records
(3)	 Checklist	 (4)	 Portfolio

53.	 A middle school mathematics teacher asks his 
students to construct a rectangle with length 7 cm 
and breadth 4 cm. As the students completed the 
task, he further instructs them:
(i)	 increase the length and breadth by 2 cm each 

and draw to see what figure you get.
(ii)	decrease the length and breadth by 2 cm and 

draw to see what figure you get.
(iii)	 increase the length by 1 cm and decrease the 

breadth by 1 cm. Can you predict the type of 
figure without drawing?

	 Which principle of Zoltan Dienes theory of 
mathematics learning is he using in the above 
activity?
(1)	 Constructivity principle
(2)	 Perceptual variability principle
(3)	 Mathematical variability principle
(4)	 Dynamic principle

54.	 Ratios are closely related to fractions but both have 
important distinctions. Which of the following is/are 
True with respect to the given statement?
(a)	 The ratio of boys to girls in a classroom is 3/5. 

This ratio is a fraction.
(b)	 The ratio of girls to total children in a classroom 

is 3/8. This is both a ratio and a fraction.
(c)	 Rimjhim walked 3/4 of a kilometre. This is a 

fraction and not a ratio.
Choose the correct option.
(1)	 Only (b)	 (2)	 (a) and (c)
(3)	 (b) and (c)	 (4)	 (a) and (b)

55.	 A middle school mathematics teacher uses paper 
folding and dissection activities with her students 
for explorations in symmetries and geometric 
shapes. The students are able to observe geometrical 
properties of different shapes, verify properties 
without formal proofs, make connections between 

various shapes. According to Van-Hieles theory 
of development in geometry, the students are 
reasoning at the level of:
(1)	 Establishing relationship
(2)	 Recognition
(3)	 Analysis
(4)	 Axiomatics

56.	 Which of the following is an example of a question 
with multiple answers?
(1)	 Given are the four digits 9, 3, 7, 5. Make the 

largest 4-digit number using all the given digits.
(2)	 Using four different digits without repetition, 

make the largest 4-digit number.
(3)	 Using four different digits, make the largest 

4-digit number with a condition that 5 is always 
at ones place.

(4)	 Make one 4-digit number using both the digits 3 
and 5 equal number of times.

57.	 Which of the following statement is NOT true for 
the given mathematical concept?
(1)	 The concept of a rectangle includes both spatial 

and length relationship.
(2)	 “Chance” is relationship between the frequency 

of an event happening compared with all 
possible outcomes.

(3)	 The concept of a “negative integer” is based only 
on the “magnitude” of the number.

(4)	 The concept of multiplication includes the 
concept of area of rectangle.

58.	 “Examination and class tests add to mathematics 
anxiety in some students”. Which of the following is 
true for mathematics anxiety according to the given 
statement?
(1)	 Mathematics anxiety can be addressed by 

making assessment an integral part of the daily 
mathematics instruction with the focus on the 
progress of the student.

(2)	 Students facing mathematics anxiety should 
be asked to take a greater number of tests to 
overcome the anxiety.

(3)	 Students overcome mathematics anxiety 
by practicing a lot of questions before the 
examination.

(4)	 Students with mathematics anxiety should be 
exempted from giving examinations.

59.	 According to National Curriculum Framework, NCF, 
(2005), “Technology can greatly aid the process of 
mathematical exploration.” Which of the following 
statement reflects a reason that restricts this 
exploration?
(1)	 Use of calculators hampers the acquisition of 

basic computational skills in students.
(2)	 Use of technology will make the teacher’s role 

irrelevant in the classrooms.
(3)	 With the use of technology problem-solving 

skills cannot be developed in students.
(4)	 It is expensive and hence the use of technology 

becomes luxurious in a country where vast 
majority of students cannot afford more than 
one notebook.
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60.	 “Algebraic thinking involves generalisation and 

symbolisation”. Which one of the following explains 
the meaning of the given statement?
(a)	 Algebraic equations are solved by using 

mathematical symbols. Hence these symbols 
should be memorized

(b)	 Algebra involves the process of creating 
generalizations from arithmetic

(c)	 Algebra involves representing patterns and 
regularities in our world.

(d)	Algebra is more abstract and symbolic. Hence 
cannot be taught through concrete experiences.

(1)	 (a) and (d)	 (2)	 (b) and (d)
(3)	 (a) and (c)	 (4)	 (b) and (c)

61.	 Read the following statement and choose correct 
response.
Assertion (A): A horse shoe magnet is a very strong 
magnet.
Reason (R): The poles of horse shoe magnet are 
very close to each other.
(1)	 Both A and R are correct but R is not correct 

explanation for A.
(2)	 Both A and R are correct but R is correct 

explanation for A.
(3)	 A is correct but R is incorrect.
(4)	 Both A and R are incorrect.

62.	 The purpose of streamlining the body of a ship is to:
(1)	 reduce fluid drag
(2)	 increase up thrust
(3)	 increase displaced water
(4)	 reduce density of ship

63.	 The following steps are involved in a dairy plant to 
prepare clarified butter/Ghee.
A.	 Milk is pasteurised
B.	 Then milk is set into curd
C.	 Curd is churned in centrifuged to separate butter
D.	 Butter is heated to get clarified butter (Ghee)
E.	 Filtered and packed

	 Which of the following above steps are physical 
changes and chemical changes?
(1)	 Physical changes	 –	 A, C, D, E
	 Chemical changes	 –	 B
(2)	 Physical changes	 –	 C, D, E
	 Chemical changes	 –	 A, B
(3)	 Physical changes	 –	 C, E
	 Chemical changes	 –	 A, B, D
(4)	 Physical changes	 –	 A, C, E
	 Chemical changes	 –	 B, D

64.	 Identify the polymers on the basis of uses mentioned 
below:

Polymer Uses

A used as padding in the packaging 
material for delicate items.

B used as an outer insulation layer for 
electrical wires.

C used in making electrical fittings.

D used in making bottles and jars.
(1)	 A–Polystyrene; B–PVC; C–Bakelite; D–Polyester
(2)	 A–Polyester; B–Bakelite; C–Fermica; D–Polyester
(3)	 A–Polythene; B–Melamine; C–Bakelite; D–PVC
(4)	 A–Polystyrene; B–PVC; C–Bakelite; D–Melamine

65.	 Radhika connects a series arrangement of two 
identical cells with a series arrangement of two 
bulbs. Which should be done to make the bulb(s) 
grow dimmer?
(1)	 replace one cell with the piece of chalk
(2)	 replace one cell with a piece of metal wire
(3)	 replace one bulb with a piece of metal wire
(4)	 replace one bulb with a cell

66.	 A is used in making bread and other bakery 
products and the process involved is called as B. 
‘A’ breaks down sugar into alcohol and C in the 
absence of Oxygen. This process is called as D. The 
‘C’ forms bubble in dough increasing its E. A, B, C, 
D, E respectively are:
(1)	 Lactobacillus, decomposition, hydrogen, fermen-

tation, mass
(2)	 Lactobacillus, fermentation, hydrogen, aerobic 

respiration, volume
(3)	 Yeast, fermentation, carbon dioxide, anaerobic 

respiration, volume
(4)	 Yeast, fermentation, carbon dioxide, aerobic 

respiration, mass
67.	 The phases of the moon as we see from the Earth are 

due to changing relative positions of the Sun, the 
Moon, the Earth. Which of the following statements 
is true:
(A)	on a full moon day, the Earth comes between the 

Sun and the Moon
(B)	on a new moon day, the Moon is in between the 

Earth and the Sun
(C)	on a full moon day, the Moon is in between the 

Earth and the Sun
(D)	on a new moon day, the Earth is between the 

Sun and the Moon
(E)	on an new moon day, the Sun is between the 

Moon and the Earth
(1)	 A, B	 (2)	 B, C
(3)	 C, D	 (4)	 A, E

68.	 Which of the following represents correct matching 
set of part of human eye and its function?

a. Cornea (i) Controls the amount of light 
entering eye

b. Iris (ii) Acts as screen for the image

c. Pupil (iii) Holds the lens in positions

d. Retina (iv) Helps in focusing light and 
protect eye

e. Ciliary 
Muscle

(iv) Light enters eye through it

(1)	 a–(v), b–(iv), c–(i), d–(ii), e(iii)
(2)	 a–(iv), b–(i), c–(v), d–(ii), e(iii)
(3)	 a–(ii), b–(iii), c–(v), d–(i), e(iv)
(4)	 a–(iii), b–(iv), c–(v), d–(ii), e(i)

69.	 Read the following statements and choose the 
correct option:
Assertion (A): The leaves of carrot plant has 
reticulate venation.
Statement 1 (S1): Plants having taproots have leaves 
with reticulate venation.
Statement 2 (S2): Plants having fibrous roots have 
leaves with reticulate venation.
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Statement 3 (S3): There is no relation between type 
of roots and venation in leaves.
(1)	 A and S1 are true and S1 supports A
(2)	 A and S2 are true and S2 supports A
(3)	 A and S3 are true
(4)	 A is not true and S3 is true

70.	 Which of the following statement is/are true in the 
context of fertilisation and pollination in plants.
A.	 Ovary of the flower matures into fruit.
B.	 Seeds of the plant forms the ovules for 

fertilisation.
C.	 Pollination takes place after fertilisation.
D.	 In pollination, seeds are dispersed by wind, 

water, birds and insects.
E.	 Fertilisation takes place in the ovules.
(1)	 A, E	 (2)	 B, C
(3)	 C, D	 (4)	 B, E

71.	 Read the following statements and choose the 
correct option.
Assertion (A): White blood cells help in fighting 
with disease causing organisms
Reasoning (R): A white blood cell can change shape
(1)	 Both A and R are correct and R is the correct 

explanation for A.
(2)	 Both A and R are correct but R is not the correct 

explanation for A.
(3)	 A is correct but R is incorrect.
(4)	 A is incorrect but R is correct.

72.	 The following table given the mass and volume of 3 
immiscible liquids X, Y and Z.

X Y Z

Mass (g) 4 8 6

V (cm3) 1 10 3

	 Equal quantities of liquids are poured in a test tube 
containing 5ml of water. What will be the order of 
liquid settled from top to bottom?

	 Consider density of water as lg/cm3.
(1)	 Y, Water, Z, X	 (2)	 X, Y, Z, Water
(3)	 X, Z, Water, Y	 (4)	 Water, X, Y, Z

73.	 When you increase the loudness of the ringtone of 
your mobile phone, the frequency of ringtone:
(1)	 increases	 (2)	 decreases
(3)	 remains same	 (4)	 cannot be determined

74.	 Which of the following statement is not true 
regarding modes of transfer of heat?
(1)	 Convection takes place in liquids and gases only
(2)	 Radiation cannot take place in gases
(3)	 Conduction can take place in gases
(4)	 Heat can be transferred through more than one 

mode simultaneously
75.	 Metal X displaces ‘Y’ and metal ‘Z’ from their 

respective salt solutions. Metal ‘Y’ displaces metal 
‘W’ from its salt solution but ‘Z’ does not displace 
‘W’ from its salt solution. The most and least reactive 
metals respectively are:
(1)	 X, Z	 (2)	 X, W
(3)	 Y, Z	 (4)	 Y, W

76.	 Identify the following:
A.	 A non-metallic lubricant
B.	 A metal which does not react with water but 

reacts with steam
C.	 A metal which is constituent of baking powder
D.	 A non-metal used in fire crackers

	 A, B, C, D respectively are:
(1)	 Phosphorus, Zinc, Sodium, Sulphur
(2)	 Carbon, Copper, Sodium, Phosphorus
(3)	 Carbon, Copper, Calcium, Sulphur
(4)	 Phosphorus, Copper, Calcium, Sulphur

77.	 A is called as Master Gland as it controls the secretion 
of hormones from B, C, thyroid and adrenal glands. 
‘A’ also secretes D hormone whose production E in 
adolescence.

	 A, B, C, D, E respectively are:
(1)	 Pituitary, Pancreas, Hypothalamus, Thyroxin, 

increases
(2)	 Hypothalamus, Pituitary, Pancreas, Growth, 

decreases
(3)	 Hypothalamus, Ovary, Testes, Growth, decreases
(4)	 Pituitary, Ovaries, Testes, Growth, increases

78.	 Which of the following statement is/are true 
regarding fungi
A.	 They are plants
B.	 They cannot perform photosynthesis
C.	 All fungi are unicellular
D.	 Some fungi help in producing antibiotics
(1)	 A, B, C	 (2)	 A, B, D
(3)	 B, C, D	 (4)	 A, C, D

79.	 Reena is suffering from vomiting and lack of appetite, 
doctor diagnoses it as a viral disease caused due to 
contamination of water. Reena is suffering from:
(1)	 Hepatitis	 (2)	 Cholera
(3)	 Dysentry	 (4)	 Typhoid

80.	 Soil ‘A’ has low water holding capacity and high 
percolation rate. The organic matter level in the soil 
is low. Soil ‘B’ has high water holding capacity and 
very slow percolation rate. It has high amount of 
organic matter. Soil ‘C’ has medium water capacity, 
percolation rate and organic matter content.

	 Identify the soils ‘A’, ‘B’ and ‘C’.
(1)	 A–sand, B–silt, C–clay
(2)	 A–sand, B–clay, C–silt
(3)	 A–clay, B–silt, C–sand
(4)	 A–clay, B–sand, C–silt

81.	 Which of the following aligns the most with the 
inquiry-based approach to teaching and learning of 
science?
(1)	 Students carrying out the activities as prescribed 

in the text book
(2)	 Students sitting in groups and planning an 

investigation together
(3)	 Teacher demonstrating various scientific 

principles through toys.
(4)	 Teacher assigning innovative activities as 

homework to students
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82.	 A teacher takes her class VI students to a nearby 

garden and asks them to look at various plants and 
fill the following table by  in appropriate column:

Plant 
Name

Height Stem
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1.	 Tulsi

2.	 ...

3.	 ...

	 Which of the following process skill(s) would this 
activity require?
A.	 Observing
B.	 Hypothesising
C.	 Classifying
(1)	 A & B	 (2)	 B & C
(3)	 A & C	 (4)	 A, B & C

83.	 Which of the following does NOT match with the 
equitable use of ICT in science pedagogy?

	 Encouraging the use of free and open source software 
for creating digital teaching-learning environment 
like the:
(1)	 Virtual labs
(2)	 Ensuring the availability of appropriate 

multimedia software in English and other Indian 
languages

(3)	 Encouraging teachers to be users rather than 
developers of technology.

(4)	 Ensuring digital access for all sections of society

84.	 Which of the following best describes the meaning 
of process validity of a science curriculum?
(1)	 Students should be given the opportunity 

to engage with the ways in which scientific 
knowledge gets constructed.

(2)	 Students must be made familiar with the role of 
various bodies in the process of development of 
science curriculum

(3)	 The science curriculum of the school must pass 
through a specified sequence of steps in order to 
be valid

(4)	 Curriculum content must be correct and free 
from errors

85.	 Which of the following is in agreement with our 
contemporary understanding of assessment in 
science at upper primary stage?
(1)	 Merit ordering of students should be introduced 

to encourage healthy competition.
(2)	 Annual examination should be given much more 

weightage than internal assessment.
(3)	 The periodic tests should have both a written 

and an experimental component.
(4)	 Open book examination should be avoided as it 

encourages the heart of copying.

86.	 Which of the following is NOT aligned with the 
recommendations of NCF-2005 regarding science 
education at upper primary stage.
(1)	 Experiments should be avoided as they are 

difficult to conduct at this stage
(2)	 Students should be engaged in data-collection 

from easily available sources
(3)	 There should be an emphasis on the process 

skills of science
(4)	 Practical knowledge about local specific 

technologies should be included
87.	 Which of the following is NOT in consonance with 

the recommendations of NEP 2020 in respect of 
science pedagogy?
(1)	 Bilingual text books and teaching-learning 

material to be used
(2)	 Experience of vocational crafts to be first 

introduced at Sr. Secondary level
(3)	 Curriculum to be rooted in local context.
(4)	 Scientific temper & evidence based thinking to 

be encouraged
88.	 Which of the following episodes best illustrates the 

tentative nature of science.
(1)	 A teacher asking students to share their 

experiences with different kinds of materials 
which they come across in their daily lives.

(2)	 A teacher holding a classroom discussion about 
the limitations of various concepts of structure 
of atom like Thompson’s plum pudding model, 
Rutherford’s atomic model

(3)	 Teacher drawing a diagram to explain the 
structure of atom and also highlighting its 
various features

(4)	 Teacher asking open-ended questions to probe 
students alternative concepts regarding the 
nature of matter.

89.	 Read the following paragraph:
	 “In 1929, Alexander Fleming was working on a 

culture of disesase causing bacteria. Suddenly, he 
found the spores of a little green mould in one of his 
culture plates. He noticed that the presence of this 
mould prevented the growth of bacteria. In fact, it 
also killed many of these bacteria. From this mould, 
penicillin was prepared.”

	 Which of the following understanding(s) about 
development of scientific knowledge is conveyed in 
this paragraph?
A.	 Science proceeds systematically according to the 

pre-determined steps.
B.	 Science required careful observation
(1)	 Only A	 (2)	 Only B
(3)	 A & B	 (4)	 Neither A nor B

90.	 A teacher gives the example of human circulatory 
system to explain the concept of closed electric 
circuit to her student. She compares the heart to 
battery and flow of blood to flow of electric current. 
Which pedagogoc device is she using?
(1)	 Argumentation
(2)	 Analogy
(3)	 Real Artefact
(4)	 Open-ended questioning
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Language: English

Direction (91-99): Read the passage given below and 
answer the questions that follow by selecting the correct/most 
appropriate options.

1.	 Vaccines work by training and preparing the body’s 
natural defences - the immune system - to recognize 
and fight off the viruses and bacteria they target. 
After vaccination, if the body is later exposed to those 
disease-causing germs, the body is immediately 
ready to destroy them, preventing illness. As of 3 
June 2021, WHO has evaluated that a number of 
vaccines against COVID-19 have met the necessary 
criteria for safety and efficacy: AstraZeneca, Pfizer 
etc.

	 Some national regulators have also assessed other 
COVID- 19 vaccine products for use in their countries. 
Vaccines provide a high degree of protection against 
getting seriously ill and dying from the disease, 
although no vaccine is 100% effective.

2.	 The COVID-19 vaccines are safe for most people 18 
years and older, including those with pre-existing 
conditions of any kind, like auto-immune disorders, 
hypertension, diabetes, asthma, pulmonary, liver 
and kidney disease, as well as chronic infections that 
are stable and controlled. Children and adolescents 
tend to have milder infection as compared to adults, 
so unless they are part of a group at higher risk 
of severe COVID-19, it is less urgent to vaccinate 
them than older people. More evidence is needed 
on use of different COVID-19 vaccines in children. 
Vaccine trials for children are ongoing and WHO 
will update its recommendations when the evidence 
or epidemiological situation warrants a change in 
policy.

3.	 After vaccination, in most cases, minor side effects: 
Arm soreness, Mild fever, Tiredness, Headaches, 
Muscle or joint aches, indicate that a person’s 
body is building protection to COVID-19 infection. 
Contact your care provider if there is redness or 
tender ness (pain) where you got the shot increases 
after 24 hours, or if side effects do not go away 
after a COVID-19 vaccine, you should not receive 
additional doses of the vaccine. It’s extremely rare 
for severe health reactions to be directly caused by 
vaccines. Taking painkillers such as paracetamol 
before receiving the COVID-19 vaccine to prevent 
side-effects is not recommended. This is because it 
is not known how painkillers may affect how the 
vaccine works. However, you may take paracetamol 
or other painkillers if you do develop side effects 
such as pain, fever, headache, or muscle aches after 
vaccination.

4.	 Even after you’re vaccinated, keep taking precautions 
While a COVID-19 vaccine will prevent serious 
illness and death, we still don’t know the extent to 
which it keeps you from being infected and passing 
the virus on to others.

Sub-Questions:
91.	 Assertion (A): After vaccination the immune system 

recognizes and fights off the viruses and bacteria 
they target. 

	 Reasoning (R): Vaccines work by training and 
preparing the body’s natural defences-the immune 
system-to recognize and fight off the viruses and 
bacteria they target.
(1)	 Both A and R are true and R is not the correct 

explanation of A.
(2)	 Both A and R are true and R is the correct 

explanation of A
(3)	 A is true but R is false.
(4)	 A is false  but R is true.

92.	 According to WHO:
	 “No vaccine is 100% protective but they have met 

the necessary criteria for efficacy“. How is it so?
(1)	 WHO has evaluated and recommended the 

vaccine.
(2)	 National regulators have assessed the vaccine.
(3)	 The vaccine has been found to protect against 

getting seriously ill or dying.
(4)	 The vaccine has been found to give complete 

protection against the disease.
93.	 Pick the option which is opposite in meaning to the 

word “chronic“ as used in the passage.
(1)	 acute	 (2)	 terminable
(3)	 curable	 (4)	 incurable

94.	 Study the following statements.
(a)	 Vaccine is not recommended for children because 

they have milder infection.
(b)	 Vaccines are safe for all people 18 years and 

older.
(1)	 (a) is true and (b) is false
(2)	 (b) is true and (a) is false
(3)	 Both (a) and (b) are true
(4)	 Both (a) and (b) are false

95.	 Given below are 4 real life situations pertaining to 
COVID-19 pandemic. Choose the option which 
perfectly describes “a high risk group“ according to 
WHO.

A B C D

Asympto-
matic 
children 
and adults 
who can 
easily 
spread the 
disease far 
and wide

Children 
with pre-
existing 
conditions, 
auto-
immune 
disorders 
and chronic 
diseases

Adults with 
pre-existing 
conditions, 
auto-
immune 
disorders, 
and chronic 
infections

Very young 
children 
whether 
with or 
without 
pre-existing 
conditions 
of any kind

(1)	 A & C	 (2)	 B & C
(3)	 C & D	 (4)	 A & B

96.	 Study the following statements:
(a)	 After vaccination a person has a great chance of 

infection.
(b)	 The minor side effects indicate that a person’s 

body is building protection.
(c)	 COVID-19 infection is rare among children.
(1)	 (a), (b) and (c) are all true.
(2)	 (a), (b) and (c) are all false
(3)	 (a) is false and (b) and (c) are true
(4)	 (a) and (b) are true while (c) is false
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97.	 Given below are 4 situations where the second shot of 

COVID-19 vaccination should not be administered. 
Choose the option which perfectly describes such a 
situation.

A B C D

Immediate 
severe 
allergic 
reaction 
to a first 
dose of the 
COVID-19 
vaccine

Post 
vaccination 
side effects 
go away 
after a few 
days

There are 
no side 
effects like 
fever, body 
ache and 
tiredness 
after 
vaccination

Redness/ 
tenderness 
(pain) 
where you 
got the shot 
keeps on 
increasing.

(1)	 (a) and (b) are true	 (2)	 (b) and (c) are true
(3)	 (a) and (d) are true	 (4)	 (c) and (d) are true

98.	 Which of the following words means the same as 
‘evaluated‘ (para 1)?
(1)	 indicated	 (2)	 assessed
(3)	 described	 (4)	 revealed

99.	 ‘and fights off the virus‘. 
	 The underlined word is a/an ............... .

(1)	 Adjective	 (2)	 Adverb
(3)	 Preposition	 (4)	 Conjunction

Direction (100-105): 
POEM

The Grass Is Like Me
	 You know, the grass is like me
	 Its true nature revealed
	 When trodden under foot
	 But when drenched
	 Does it bear witness
	 To burning disgrace
	 Or blazing fury?
	 Yes, the grass is like me
	 It lifts its head
	 Only to be continually sheared
	 Into flat velvet by the frenzied machine.
	 How many ways do you have to flatten a woman?
	 But the earth
	 And women continue to rise up.
	 If you ask me, you had the right idea
	 A foot path was spot on
	 Those who can’t endure
	 Are patched down into the scorched earth
	 Merely straw
	 A path for the oppressors
	 Not grass
	 You know, grass is like me
100.	In which mood does the poem conclude?

(1)	 Gloomy	 (2)	 Cynical
(3)	 Defiant	 (4)	 Reflective

101.	Who according to the poem, would your associate 
with the ‘oppressors‘?
(1)	 Ignorant men	 (2)	 Autocrats
(3)	 Submissive women	 (4)	 Patriarchy

102.	The poem’s promise lies in:
(1)	 regeneration	
(2)	 vilification
(3)	 revolutionary violence	 	
(4)	 compliance

103.	What literary devices does the titular name include?
(1)	 Refrain and metonymy
(2)	 Metaphor and conceit
(3)	 Refrain and simile
(4)	 Simile and apostrophe

104.	‘It lifts its head‘.
	 Which of the statements given below is true in the 

light of this?
(1)	 Grass grows up again.
(2)	 Grass is personified.
(3)	 It is a fallacy.
(4)	 Grass is used as a metaphor.

105.	Which category of women does the poet refer to in 
“those who“can’t endure, are patched down...”?
(1)	 Feminists	 (2)	 Women with voice
(3)	 Dominant	 (4)	 Subservient

106.	In a classroom, if a teacher writes a topic on the 
board and asks the students to help him organise 
related words and concepts in cluster around the 
central topic. What is the teacher doing?
(1)	 Word mapping	 (2)	 Brainstorming
(3)	 Free-association	 (4)	 Quick writing

107.	In the primary classes, it is recommended that 
children should be taught in their mother tongue 
because:
(1)	 it enables children to comprehend well
(2)	 it promotes regional languages
(3)	 it is easy to teach in
(4)	 it helps to mange the class well

108.	 Communicative Comperence is a subset of functio-
nal grammar and its approach in teaching will allow 
students to:
(1)	 learn structures and use them accurately
(2)	 use structures in a range of output texts
(3)	 learn grammar through meaningful communica-

tion
(4)	 enable teachers to expose students to grammar in 

the lower classes
109.	 Subhash has the ability to think and talk about 

languages, so he has:
(1)	 multi-linguistic awareness
(2)	 phonemic awareness
(3)	 symbolic awareness
(4)	 perceptual skill

110.	 A paragraph in English will be considered good if it:
(1)	 is in descriptive language
(2)	 is written in good handwriting
(3)	 has correct punctuation
(4)	 presents ideas in coherent way

111.	Identify the principles of cooperative language 
learning.
(1)	 Positive interdependence, group formation, 

individual accountability and social skills
(2)	 Positive dependence, group formation, individual 

accountability and social skills
(3)	 Positive intradependence, group formation, 

group accountability and social skills
(4)	 Positive intradependence, group formation, 

social accountability and social skills.
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112.	“Language is people; language is person in contact; 

language is person in response“. This idea refers to
(1)	 interactional view	 (2)	 cognitive view
(3)	 genre view	 (4)	 behaviouristic view

113.	Scanning is a reading activity which helps learners 
to ............... .
(1)	 draw out the desired information
(2)	 enrich their vocabulary
(3)	 develop competence in linguistic items
(4)	 know meaning of words

114.	Which one of the following models puts main 
emphasis over semantic and communicative 
dimensions rather than grammatical characteristics 
of language?
(1)	 Structural Model	 (2)	 Cognitive Model
(3)	 Genre Model	 (4)	 Functional Model

115.	Consider the statement A and B
(a)	 Teacher should be silent as much as possible in 

classroom and learners should be encouraged to 
produce as much language as possible.

(b)	 Colour charts and coloured Cuisenaire rods 
should be used to elicit proper pronunciation.

	 There are the premises of
(1)	 Suggestopedia	 (2)	 Silent way
(3)	 Laxical Approach	 (4)	 Natural Approach

116.	A CEO of a company calls the sales manager and 
handover a rule book to be circulated in his her own 
department.

	 What is this known as?
(1)	 Horizontal Communication
(2)	 Vertical Communication
(3)	 Spiral Communication	
(4)	 Diagonal Communication

117.	Being a culturally responsive teacher essentially 
requires
(a)	 He/She should consider students culture as an 

asset.
(b)	 He/She should support learning environment 

based on creative learning approach.
(1)	 (a) is right	 (2)	 (b) is right
(3)	 Both (a) and (b) right	 (4)	 Both (a) and (b) wrong

118.	If a teacher is to rate each part of the student’s 
product or process then which type of tool will be 
effective?
(1)	 Checklist	 (2)	 Holistic Rubrics
(3)	 Analytical Rubrics	 (4)	 Schedule

119.	The knowledge that one has about one’s processes 
of thinking and the ability to monitor thought 
processes is known as?
(1)	 Symbolism	 (2)	 Scaffolding
(3)	 Metacognition	 (4)	 Conservation

120.	A teacher of class VIII selected a passage from a 
newspaper and dropped every fifth word to be filled 
by her learners for their unit test. What typology 
question does this come under?
(1)	 Grammar question	
(2)	 Cloze question
(3)	 Fill in the blanks	
(4)	 Reading comprehension

Language: Hindi

funsZ'k (121-128): fuEufyf[kr vuqPNsn dks /;kuiwoZd if<+, rFkk iwNs 
x, ç'uksa ds mÙkj ds :i esa mfpr fodYi dk pyu dhft,µ

,sfyQsaVk xqQka, ftl Vkiw ij gSa] ml Vkiw dk vlyh uke /kkjkiqjh gSA 
ejkBh Hkk"kk esa /kkjkiqjh dk eryc gksrk gS xqQkvksa dk 'kgjA bu xqQkvksa 
dks Bksl iRFkj dkVdj cuk;k x;kA dgk tkrk gS fd bu xqQkvksa dks 
ukSoha 'krkCnh ls rsjgoha rd ds flYgkjk oa'k ds jktkvksa us cuk;k FkkA 
xqQkvksa dh dqN ewfrZ;ksa dks jk"VªdwV oa'k us Hkh cuok;k FkkA 1535 esa bl 
Vkiw ij xqtjkr ds lqYrku dk jkt FkkA tc iqrZxkfy;ksa us bl Vkiw ij 
viuk dCtk tek;k] rc mUgksaus bldk uke /kkjkiqjh ls ,sfyQsaVk dsCl 
(,sfyQsaVk xqQk,a) j[k fn;kA rc ;gka gkFkh dh ,d cgqr cM+h ewfrZ Hkh 
FkhA blhfy, mUgksaus bls uke fn;k ^gkFkh dh xqQk,a*] ij iqrZxkfy;ksa us 
bl ewfrZ dk dksbZ /;ku ugha j[kkA ftl laHkksokys eaMi esa ;g ewfrZ yxh 
gqbZ Fkh] iqrZxkfy;ksa us mls 'kwfVax xSyjh cuk fn;kA vkSj ,d fnu og 
ewfrZ fxjdj VwV xbZA ;g VwVh gqbZ ewfrZ vc eqEcbZ ds thtkekrk m|ku 
esa j[kh gqbZ gSA
121.	,sfyQsaVk dh xqQkvksa ds Vkiw dk vlyh uke D;k gS\

(1)	 ,sfyQsaVk	 (2)	 /kkjkiqjh
(3)	 ?kkjkiqjh	 (4)	 ek;kiqjh

122.	fdl Hkk"kk esa /kkjkiqjh dk vFkZ (xqQkvksa dk 'kgj gS)
(1)	 dksad.kh	 (2)	 xqtjkrh
(3)	 ejkBh	 (4)	 ey;kye

123.	bu xqQkvksa dks dSls cuk;k x;k gS\
(1)	 pêkuksa dks tksM+dj	 (2)	 Bksl iRFkj dkVdj
(3)	 b±V lhesaV ls	 (4)	 isM+ksa dks dkVdj

124.	,sfyQsaVk xqQkvksa dks fdlus cuok;k Fkk\
(1)	 iqrZxkfy;ksa us	 (2)	 Mpksa us
(3)	 vaxzstksa us	 (4)	 flYgkjkoa'k ds jktk us

125.	iqrZxkfy;ksa dk gkFkh dh ewfrZ ds çfr dSlk utfj;k Fkk\
(1)	 lgstdj j[kuk	 (2)	 ykijokgh cjruk
(3)	 ns[kHkky djuk	 (4)	 VwVh ewfrZ nksckj cuokuk

126.	orZeku esa VwVh ewfrZ dgka gS\
(1)	 eqEcbZ ds leqæh rV ij	
(2)	 eqEcbZ ds thtkekrk ckx esa
(3)	 eqEcbZ ds ppZxsV ij	
(4)	 eqEcbZ ds xsVos vkWQ bafM;k ij

127.	ewfrZ 'kCn ------------- laKk gSµ
(1)	 O;fDrokpd	 (2)	 tkfrokpd 
(3)	 Hkkookpd	 (4)	 xq.kokpd

128.	[kEHkksaokys eaMi esa js[kkafdr 'kCn gSµ
(1)	 fØ;k	 (2)	 fo'ks"k.k
(3)	 laKk	 (4)	 loZuke

funsZ'k (129-135): fuEufyf[kr x|ka'k dks /;kuiwoZd if<+, rFkk iwNs 
x, ç'uksa ds mÙkj nhft,µ

euq"; vkSj çÏfr ds chp çkphudky ls gh xgjk laca/k jgk gSA çÏfr 
dh xksn esa tUe ysdj ekuo us lH;rk dk fodkl fd;k gSA çÏfr dh 
nsu isM+&ikS/ks vkSj ouLifr;ka ges'kk ls gekjs thou ds fy, vko';d 
jgs gSaA vlk/; jksxksa dk çÏfrd tM+h&cwVh ls bykt djus okys cS| 
thod ls tc muds xq# th us dksbZ ,slh ouLifr <w<+us ds fy, dgk 
ftldk dksbZ xq.k u gks rks oks os [kkyh gkFk ykSV vk,A
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vkt ds çnw"k.k ds ;qx esa rks isM+&ikS/kksa dh mi;ksfxrk vkSj Hkh c<+ xbZ 
gSA dbZ o`{kksa dh Nky vkSj tM+s vusd çdkj dh nokba;k cukus ds dke 
vkrh gSaA o`{kksa ds egRo dks ns[krs gq, gh gekjs ns'k esa çfro"kZ tqykbZ 
ekg ds çFke lIrkg dks Hkh blh fn'kk esa egRoiw.kZ Hkwfedk fuHkkuh gSA 
tc o`{k gesa Qy] Qwy] Nk;k] xksan] dkxt] ydM+h rFkk vU; vusd 
inkFkZ nsrs gSa rks gesa Hkh mudh j{kk esa rRij jguk pkfg,A isM+&ikS/kksa dh 
j{kk esa gh gekjh j{kk gSA
129.	^çÏfr dh xksn esa euq"; us lH;rk dk fodkl fd;k gS* dk vFkZ 

gSµ
(1)	 euq"; çÏfr dh xksnA
(2)	 euq"; viuh lHkh vko';drkvksa dh iwfrZ ds fy, çÏfr ij 

fuHkZj gSA
(3)	 çÏfr lqanj yxrh gSA
(4)	 euq"; vkfndky esa taxyksa esa okl djrk FkkA

130.	çnw"k.k ds ;qx esa isM+&ikS/kksa dh mi;ksfxrk vkSj c<+ xbZ gS D;ksafdµ
(1)	 çnw"k.k ds ifj.kkeksa dks mxz gksus ls jksdrs gSaA
(2)	 çnw"k.k QSykrs gSaA
(3)	 çnw"k.k esa ;ksxnku nsrs gSaA
(4)	 çnw"k.k ds çeq[k dkjd gSaA

131.	o`{k ls gesa D;k çkIr ugha gksrk gS\
(1)	 dkxt	 (2)	 nokb;ka
(3)	 IykfLVd	 (4)	 Nk;k

132.	gekjs ns'k esa ou egksRlo euk;k tkrk gSµ
(1)	 çkphudky ls	
(2)	 o`{kksa ds egRo ds dkj.k
(3)	 o`{kksa ds egRo u gksus ds dkj.k
(4)	 ljdkjh vkns'k gksus ds dkj.k

133.	^mi;ksfxrk* 'kCn esa milxZ gSµ
(1)	 mi	 (2)	 brk
(3)	 fxrk	 (4)	 rk

134.	^çFke lIrkg* esa js[kkafdr 'kCn gSµ
(1)	 laKk	 (2)	 loZuke
(3)	 dkjd	 (4)	 fo'ks"k.k

135.	isM+&ikS/kksa dh j{kk esa gh gekjh j{kk gS D;ksafdµ
(1)	 isM+&ikS/ks i`Foh dks gjk&Hkjk j[krs gSaA
(2)	 isM+&ikS/ks okrkoj.k dks BaMk j[krs gSaA
(3)	 ge viuh lHkh vko';drkvksa ds fy, çR;{k@vçR;{k :i ls 

isM+&ikS/kksa ij fuHkZj gSaA
(4)	 isM+&ikS/ks ifjos'k dh lqanjrk esa o`f¼ djrs gSaA

136.	fuEufyf[kr esa ls dkSu&lh Hkk"kk dh ,d fo'ks"krk ugha gS\
(1)	 Hkk"kk ;kn`fPNd gSA
(2)	 Hkk"kk fLFkj gSA
(3)	 Hkk"kk lkaLÏfrd vuqHkoksa ij vk/kkfjr gksrh gSA
(4)	 Hkk"kk ,d vftZr vkSj lh[kh gqvk O;ogkj gSA

137.	fdl ifjdYiuk esa ;g lqfuf'pr fd;k x;k gS fd fo|kFkhZ 
O;kdj.k ds fu;eksa dks tkusa vkSj mUgsa lpsru Hkko ls ;kn djsa\
(1)	 çkÏfrd vuqØe ifjdYiuk	
(2)	 ekWfuVj ifjdYiuk
(3)	 fuos'k ifjdYiuk
(4)	 euksHkkokRed Nuu ifjdYiuk

138.	lexz Hkk"kk i¼fr dk fopkj fdlds laaca/k esa çfrfØ;k Lo:i 
lkeus vk;k\
(1)	 VkWi Mkmu iBu fl¼kar	 (2)	 ckWVe vi iBu fl¼kar
(3)	 ewrZ ls vewrZ Hkk"kk f'k{k.k	 (4)	 Kkr ls vKkr Hkk"kk f'k{k.k

139.	d{kk VII dh f'kf{kdk f'k{kkfFkZ;ksa dks Hkk"kk ds dqN okD;ka'k 
nsrh gS tSls fd ßeSa Bhd gw¡AÞ] ßesjs vuqlkjÞ ßD;k ekeyk gSAÞ] 
bR;kfnA

	 vkids vuqlkj og d{kk esa dkSu&lk mikxe viukrh gS\
(1)	 lEçs"k.kkRed mikxe	 (2)	 lanHkZ esa O;kdj.k
(3)	 lajpukRed mikxe	 (4)	 lajpukRed mikxe

140.	og ç'u tks f'k{kkfFkZ;ksa dks iBu lkexzh dks i<+us tSls fn, x, 
fuos'k ls vkxs tkus esa leFkZ cukrs gSa] mls D;k dgrs gSa\
(1)	 fu"d"kZ fudkyus ls lacaf/kr ç'u
(2)	 ladyukRed ç'u
(3)	 nwljs ds LFkku ij Lo;a dks j[kus ls tqM+s ç'u
(4)	 jpukRed ys[ku ç'u

141.	v vkSj c dFkuksa ij fopkj djsaµ
	 vµvdknfed Hkk"kk fo'ks"krkvksa dh fo'ks"krk gS tks vdknfed 

fo"k;ksa ds fy, fof'k"V gSA
	 cµvdknfed Hkk"kk ds {ks= esa O;kdj.k] 'kCnkoyh vkSj Hkk"kk ds 

lHkh fo"k; {ks=ksa ds foe'kZ gSaA
(1)	 v lgh gSA	 (2)	 c lgh gSA
(3)	 v vkSj c nksuksa lgh gSaA	 (4)	 v vkSj c nksuksa xyr gSaA

142.	fp= cks/k fdls c<+kok nsus ds fy, çHkko'kkyh gSa\
(1)	 lquus dk dkS'ky	 (2)	 cksyus dk dkS'ky
(3)	 i<+us dk dkS'ky	 (4)	 fy[kus dk dkS'ky

143.	fdlh ,d Hkk"kk dh d{kk ds fy, fuEufyf[kr esa ls D;k lcls 
vf/kd mi;qDr gS\
(1)	 y{; Hkk"kk dh vkÏfr;ksa vkSj vFkks± ds chp laca/k LFkkfir 

djukA
(2)	 Hkk"kk lh[kus ds fy, fMªy }kjk vkÏfr;ksa] O;kdj.k ds fu;eksa 

dh O;k[;k djukA
(3)	 ikB`;iqLrd dk xgu mi;ksx djukA
(4)	 vuqokn ds ek/;e ls xgu vH;kl djukA

144.	çHkko'kkyh lEçs"k.k ds fy, çs"kd dks fdl ckr ij /;ku ugha nsuk 
pkfg, Fkk\
(1)	 lquus okys dh lkekftd&vkfFkZd fLFkfr
(2)	 lquus okys dk Kku
(3)	 lquus okys dh :fp
(4)	 lquus okys dh laLÏfr vkSj lkekftd jhfr;k¡

145.	,d Hkk"kk ls nwljh Hkk"kk esa tkuk (VªkUlySaXost) ds ckjs esa D;k 
lgh ugha gS\
(1)	 Hkk"kkvksa ds chp vuqoknA
(2)	 ,d gh cksyh tkus okyh ;k fyf[kr vfHkO;fDr esa fofHkUu 

Hkk"kkvksa ds 'kCnksa dk feJ.kA 
(3)	 ;g cgqHkk"kkokn dks leqUur djrk gSA
(4)	 ;g fo|kfFkZ;ksa dks ,d Hkk"kk ds ç;ksx rd lhfer djrk gSA

146.	NBh d{kk ds dqN fo|kFkhZ lh[kus dh v{kerk ls ihfM+r gSaA 
ml d{kk ds f'k{kd gksus ds ukrs vki d{kk dks dSls lekos'kh 
cuk,axs\
(a)	 mudk ,d fo'ks"k lewg cukdjA
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(b)	 fo"k;&oLrq dks lkexzh dh lgk;rk ls çLrqr djdsA
(c)	 mUgsa d{kk ds vU; lHkh fo|kfFkZ;ksa ds lkFk feykdjA
(d)	mUgsa d{kk dh ftEesnkfj;ksa esa 'kkfey djdsA
(1)	 a, b and d	 (2)	 a, c and d
(3)	 b, c and d	 (4)	 b, c and d

147.	,d d{kk esa ,d fo|kFkhZ vius lkfFk;ksa ls fgUnh esa ckr dj jgh 
FkhA tc mlds f'k{kd us cqyk;k rks mlus rqjar mUgsa vaxzsth esa 
viuh çfrfØ;k O;Dr dhA fuEufyf[kr esa ls ;g fdldk mnkgj.k 
gS\
(1)	 dksM fLofpax	 (2)	 dksM fefDlax
(3)	 vFkZ fudkyuk	 (4)	 vFkZ dk foLrkj

148.	fuEufyf[kr esa ls dkSu&lk ijh{k.k LoHkkfod :i ls Hkk"kk dkS'kyksa 
dks ekirk gS vkSj ftlesa iw.kZ rkfdZd Li"Vhdj.k dh vko'd;rk 
gksrh gS\
(1)	 iBu vocks/ku	 (2)	 O;fDrfu"B
(3)	 oLrqfu"B	 (4)	 cgqfodYih; ç'u

149.	d{kk VIII dh f'kf{kdk viuh d{kk dks ik¡p&ik¡p ds lewg esa 
ck¡Vdj mudh #fp ds vuqlkj fo"k;&oLrq dk foLrkj djus 
okyh vyx&vyx Fkh nsrh gSA lewgksa dks mlls lacaf/kr fopkjksa 
rFkk lwpuk dks ,df=r djus] yksxksa dk lk{kkRdkj ysus rFkk mls 
le>dj fjiksVZ fy[kus ds fy, dgk x;kA fo|kfFkZ;ksa dks layXu 
djus okyh bl xfrfof/k dks D;k dgsaxs\
(1)	 ifj;kstuk dk;Z	 (2)	 çnÙk dk;Z
(3)	 lewg dk;Z	 (4)	 iksVZQksfy;ks dk;Z

150.	Hkkjr dh ^f'k{kk esa Hkk"kk uhfr* fdl :i esa tkuh tkrh gS\
(1)	 cgqHkkf"kd f'k{kk	 (2)	 f=Hkk"kka lw=
(3)	 f'k{kk ikB~;p;kZ esa Hkk"kk	 (4)	 Hkk"kk uhfr esa f'k{kk
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1.	 Option (1) is correct.
Explanation: Development describes 
the growth of the human mind and 
body throughout their lifespan. 
Physical health impacts mental 
health and vice versa.
The domains of development like 
physical, social, emotional and cogni-
tive development are interlinked and 
interrelated so that a child's progress 
in one domain influences the progress 
in other domains of development by 
the principle of interrelation.
Hence, Both (A) and (R) are true and 
(R) is the correct explanation of (A).

2.	 Option (1) is correct.
Explanation: Sequential Develop-
ment means the growth happens in a 
set of patterns or order, but the speed 
of their development may differ. In 
the physical development of a child, 
he/she will roll, crawl, walk and 
eventually can run.
The development follows a predict-
able pattern. Children acquire/learn 
skills and achieve milestones in a 
predictable sequence. For example, 
a child must learn to hop and run 
before they can skip.

3.	 Option (4) is correct.
Explanation: ‘Socialization’ is a 
learning process that begins shortly 
after birth
Early childhood is the period of the 
most intense and crucial socialization 
and home, family, peers, and friends 
play a key role in learning.
It is then that we acquire language 
and learn the fundamentals of our 
culture. It is also when much of our 
personality takes shape.
In the development of children, 
socialization plays a key role and is 
affected by family, school, peers, and 
mass media. So, not only do formal 
agencies but other factors like family 
and friends and social groups also 
play a vital role in the development 
of a child.

4.	 Option (1) is correct.
Explanation: Jean Piaget’s theory 
states that humans create knowledge 
through the interaction between their 
experiences and ideas. He stated that 
the individual is at the center of the 
knowledge creation and acquisition 
process.
Piaget believed that intelligence 
develops from the action. He 

“believed that children create 
knowledge through interactions 
with the environment. Children are 
not passive receivers of knowledge; 
rather, they actively work at 
organizing their experience into more 
complex mental structures.”  
To build more complex schemas, 
children must interact with their 
environment. 

5.	 Option (4) is correct.
Explanation: Jean Piaget proposed 
that when the child is at the formal 
operational stage:
Their mental capabilities are 
developed to the maximum level. 
Children become capable of hypo-
thetical and deductive reasoning. 
Children can create logical combina-
tions and verify hypotheses.
Including this formal Operational 
Stage, piaget has given four stages 
which are Sensori-motor Stage,  
Pre-operational Stage and Concrete 
Operational Stage. 

6.	 Option (1) is correct.
Explanation: In Vygotsky’s system, 
children’s cognitive development is 
affected by culture in two ways. 
First, children acquire most of their 
knowledge (the contents of thought) 
through culture. 
Learning is a social process where 
development occurs through interac-
tions with people who possess more 
knowledge or skill than the learner.
We are born with four ‘elementary 
mental functions’: Attention, Sensa-
tion, Perception, and Memory which 
allow us to use these elementary skills 
to develop and finally gain ‘higher 
mental functions.
He believed that parents, caregivers, 
peers, and the culture at large are 
responsible for developing higher-
order functions. 

7.	 Option (3) is correct.
Explanation: In Vygotsky’s system, 
children’s cognitive development is 
affected by culture in two ways. 
First, children acquire most of their 
knowledge (the contents of thought) 
through culture. 
Learning is a social process where 
development occurs through inter-
actions with people who possess 
more knowledge or skill than the 
learner.
We are born with four ‘elementary 
mental functions’: Attention, Sensa-
tion, Perception, and Memory which 
allow us to use these elementary skills 

to develop and finally gain ‘higher 
mental functions.
He believed that parents, caregivers, 
peers, and the culture at large are 
responsible for developing higher-
order functions. 

8.	 Option (1) is correct.
Explanation: Kohlberg’s theory is 
based on rationality, duty, impartiality, 
and the universally accepted abstract 
principle of justice.
Gilligan’s model is based on female 
characteristics of care and relationship. 
Women as per Kohlberg’s model 
are inferior to men so long as moral 
development is concerned.
Carol Gilligan emphasizes that 
women’s ways of thinking are often 
undervalued compared to men.
Hence, Carol Gilligan critiqued 
Lawrence Kohlberg’s theory of moral 
development by arguing that men 
have the morality of Justice while 
women have the morality of care.

9.	 Option (2) is correct.
Explanation: Spatial intelligence: 
It is the concept of being able to 
successfully perceive and derive 
insight from visual data, understand 
visual information in real and abstract 
words and an ability to envision 
information.

10.	 Option (2) is correct.
Explanation: The policy emphasizes 
that mother tongue/local language/
regional language as the medium of 
instruction at least till Grade 5, but 
preferably till Grade 8 and beyond.
To the extent possible, mother tongue 
as the medium of instruction until at 
least Grade 5 - It is well understood 
that young children learn and grasp 
nontrivial concepts more quickly in 
their home language/mother tongue.

11.	 Option (4) is correct.
Explanation: Assessment Is a 
systematic process of gathering a 
range of information relating to a 
child, to help identify their strengths 
and needs. Assessment can provide a 
baseline of information against which 
a child’s future development can be 
measured. 
A child-centered education 
assessment: 
n	Ensure students are actively 

engaged in their learning goals 
by encouraging them to critique 
their work and identify areas of 
progress that need improvement 
putting this ownership on 
students promotes sustainable, 
self-regulated learning.
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n	Teachers understand learners 

and create lessons based on their 
specific needs

n	Assessments should enhance their 
learning and/or provide them 
with an opportunity to receive 
feedback. 

n	Make assignment and test 
instructions clear to students.

n	Choose assessment methods that 
are interesting and challenging to 
your students. 

Peer collaboration: Students should 
involve with one another and with 
the teacher.
Further, well-defined collaborative 
work can increase students’ sense of 
control and power in the classroom.

12.	 Option (4) is correct.
Explanation: Some of the key features 
of NEP 2020 for students from socio-
economically disadvantaged groups 
are:
n	Recognizing, identifying, and 

fostering each student’s unique 
capabilities, by educating teachers 
and parents to promote each 
student’s holistic development 
in academic and non-academic 
spheres

n	Respect for diversity and the local 
context in all curricula, pedagogy, 
and policy. 

n	Full equity and inclusion to ensure 
that all students thrive in the 
education system.

n	Learning should be Holistic, 
Integrated, Enjoyable, and Enga-
ging.

n	To bridge the gaps between the 
language spoken by the child and 
the medium of teaching.

n	The language of the transaction 
between teachers and students 
will remain the home language/
mother tongue where home 
language/mother-tongue textbook 
material is not available.

n	Local sign languages will be 
respected and taught as well, 
where possible and relevant.

n	Teaching for specific learning 
disabilities, teachers would 
require subject-teaching know-
ledge and an understanding of 
education’s subject-related aims 
and the relevant skills for the 
understanding of the unique 
requirements of children.

13.	 Option (4) is correct.
Explanation: The ways by which 
teachers can ensure equality among 
boys and girls in the classroom:
n	Enlighten students about gender 

equality by teaching students 
about its significance.

n	Encouraging all students to 
participate in extracurricular activi-
ties regardless of gender, creating 
a gender-inclusive curriculum, 
and making behavioral changes.

n	Avoid separating male and female 
students. 

n	Discouraging male students to 
interrupt female students when 
they are speaking.

n	By promoting all genders working 
together. 

n	By avoiding stereotypes (including 
subtle ones). Include literature 
that is inclusive and free of gender 
stereotypes. 

n	By eliminating gendered words.
14.	 Option (2) is correct.

Explanation: A progressive classroom 
Emphasizes learning by doing – 
hands-on projects, expeditionary 
learning, and experiential learning.
It allows a flexible learning process, 
where the student can actively 
participate in the teaching-learning 
process. Here, the learning is based 
on the needs and capabilities of the 
individual child.
Experiential [learning] is a philosophy 
and methodology in which teachers 
engage with students in direct 
experience to increase knowledge, 
develop skills, and clarify values.
For example: Going to the zoo to learn 
about animals through observation, 
instead of reading about them.
Hence, experiential learning is an 
essential component of progressive 
classrooms.

15.	 Option (1) is correct.
Explanation: Critical thinking is a 
higher-order thinking skill that goes 
beyond basic observation of facts and 
memorization when we want our 
students to be evaluative, creative, 
and innovative.
Evaluating means making judgments 
about something based on criteria and 
standards. This requires checking and 
critiquing an argument or concept 
to form an opinion about its value. 
Often there is not a clear or correct 
answer to this type of question.
Analyzing critically means the search 
for meaning, exploring consequences, 
and deepening students’ thinking 
and engagement to develop critical 
literacy which involves analyzing and 
evaluating ideas and texts beyond the 
literal level.
Thus, Higher-order thinking skills 
have 3 dimensions, namely: analysis, 
evaluation, and creating ideas.

16.	 Option (3) is correct.
Explanation: Indian Parliament has 
enacted the Rights of a person with 
disability Act, 2016 which defines 
“inclusive education” as “a system of 
education wherein students with and 
without disability learn together and 
the system of teaching and learning is 
suitably adapted to meet the learning 
needs of diverse types of students 
with learning disabilities.
Under inclusive learning, a child 
must be taught in his home language 
/or mother tongue or the language 
with which he/she is comfortable. 

The curriculum should be learner-
friendly.
Hence, compulsory second and third 
language courses are a hindrance 
in achieving the goals of inclusive 
learning for the disabled.

17.	 Option (3) is correct.
Explanation: A student labeled as 
learning disabled may be ridiculed 
or singled out. 
This may lead to differences with 
peers and cause the student to 
withdraw and become isolated. 
Labeling may lead to low self-esteem 
and feelings of helplessness due to a 
student’s inability to compete in the 
classroom setting.
A teacher may have preconceived 
ideas of the labeled child’s capabilities 
and may not teach the child to their 
fullest capability. This can create 
ineffective schooling.
Hence, labeling and ranking students 
in multiple ways may affect the diverse 
learning needs of the students.

18.	 Option (4) is correct.
Explanation: “Wernicke’s dysphasia 
involves damage to a part of the brain 
called Wernicke’s area. Wernicke’s 
area helps us to understand the 
meaning of words and language.”
The most common symptoms of 
dysphasia include difficulty speak-
ing, difficulties with expression and 
understanding spoken language. 
People with dysphasia also show 
signs of withdrawal from social situa-
tions.
People with dysphasia might have 
trouble putting the right words 
together in a sentence, understanding 
what others say, reading, and writing.

19.	 Option (1) is correct.
Explanation: Dysgraphia is a neuro-
logical condition causing difficulty 
in transferring thoughts into written 
language for their age and ability to 
think, despite instruction and educa-
tion.
Dysgraphia can present with many 
different symptoms at different ages. 
It is considered as a learning differ-
ence.
Causes:
l	Dysgraphia can sometimes be 

acquired because of an illness, 
degenerative disease, or brain 
injury. This can cause a child (or 
even an adult) to lose their writing 
skills. 

n	The other type is called develop-
mental dysgraphia, where difficul-
ties acquiring writing skills show 
up in childhood.

n	Measures to help the learner with 
this disability:
l	Provide typed copies of class-

room notes or lesson outlines to 
help the student take notes. 

l	Provide extra time to take notes 
and copy material. 
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l	To allow the student to use an 

audio recorder or a laptop in 
class.

l	Provide paper with different 
colored raised lines to help 
form letters in the right space.

20.	 Option (3) is correct.
Explanation: Creativity requires 
students to have the courage to try 
new things and experiment with 
different ideas.
Creativity requires research, bravery, 
risk-taking, and perseverance.
Criticism should not be feared but 
seen as an opportunity for growth.
It involves fluency, or the ability to 
generate many ideas, flexibility, or the 
ability to switch from one perspective 
to another, and originality in picking 
unusual associations of ideas.
Hence, to say that creative students 
have a low sense of curiosity to learn 
new topics is not a correct statement. 

21.	 Option (1) is correct.
Explanation: The middle grades 
consist of early-adolescent students, 
ten to fourteen years of age, in grades 
six to eight.
Adaptability is something teachers 
require regularly and plays a key role 
in helping them achieve the demands 
of their work. In our prior research.
Middle school teachers typically do 
the following: 
Create lesson plans to teach students 
(either an entire class or smaller 
groups) a subject, such as science or 
history. 
Assess students to evaluate their 
abilities, strengths, and weaknesses.

22.	 Option (3) is correct.
Explanation: Brainstorming is a group 
problem-solving method which 
requires a spontaneous contribution 
of creative ideas and solutions. Every 
member of the group is encouraged 
to think aloud and suggest as many 
ideas as possible based on their 
diverse knowledge.
Examples provide an instance of 
similarity whereas non-examples 
provide a contrast. In non-example, 
Students figure out what attributes 
are relevant to the newly learned 
concept and which are not.
Hence, the statement that non-
examples do not play any role in the 
understanding of a concept is false.

23.	 Option (4) is correct.
Explanation: In the learning process, 
failure or not achieving the desired 
goal or results is considered as a 
developmental process.
It can help you to become a better, 
more successful person. In addition, 
failure can teach you valuable lessons 
that will help you not to make the 
same mistakes again in the future. 
Finally, failure can help you to build 
resilience and persistence.
From our failures, we find out what 
does not work and we can adjust 
our future attempts, we learn about 

ourselves in the process and gain a 
bit of empathy towards others that 
might be struggling as well.
Hence, failure is a part of the develop-
mental process.

24.	 Option (3) is correct.
Explanation: Declarative knowledge 
is knowledge about what the world 
is like. E.g., bananas grow on trees; 
spring follows winter; such-and-such 
a person was absent (or present) on a 
particular occasion.
Declarative knowledge is the know-
ledge of facts, data, and pieces of 
information, such as mathematical 
or scientific facts that can only be 
learned through memorization. It is 
an association between two or more 
items that are linked through memo-
rization.

25.	 Option (4) is correct.
Explanation: Rote learning is the 
memorization of information based 
on repetition. Learners often resort 
to rote memorization because they 
are unable to relate newly acquired 
information to prior knowledge. 
Meaningful learning is characterized 
by relating newly acquired informa-
tion to prior knowledge.
Metacognition, simply put, is the 
process of thinking about thinking. 
It is important in every aspect of 
school and life since it involves self-
reflection on one’s current position, 
future goals, potential actions and 
strategies, and results.
Hence, rote memorization will not 
facilitate metacognition.

26.	 Option (3) is correct.
Explanation: In Constructivism, the 
student transforms from a passive 
recipient of information to an active 
participant in learning. With the 
teacher’s help, students construct 
their knowledge actively rather 
than just mechanically ingesting 
knowledge from the teacher or the 
textbook.

27.	 Option (3) is correct.
Explanation: Problem-solving skills 
are the ability to identify problems, 
brainstorm and analyze answers, and 
implement the best solutions.
The solving problem requires 
multiple perspectives. To approach 
a problem from a single perspective 
will lead to stagnation and failure.
When children solve problems 
individually or in a group, they 
learn to look at problems from a new 
perspective. Therefore, it makes them 
capable of taking more calculated 
risks.

28.	 Option (3) is correct.
Explanation: A misconception refers 
to a wrong assumption or under-
standing. 
Misconception analysis involves 
discovering and understanding, mis-
understandings and uncovering false 
assumptions.

Addressing misconceptions in lesson 
plans makes teaching much better, 
and easier. Students have a better 
understanding of what is taught, 
leaving their preconceptions behind 
when they are incorrect.
The misconception is just a basic part 
of the teaching-learning process and 
not high-order thinking.
These are not neurological defects 
but can be reduced by clearing the 
concepts.

29.	 Option (2) is correct.
Explanation: Students with avoid-
ance–oriented performance goals are 
concerned with avoiding failure in 
front of others. They are extrinsically 
motivated by the fear of inferior 
performance.
Performance-avoidance goals (the 
desire to avoid performing more 
poorly than others do) have deteriora-
ting effects on performance.
Approach goals have positive 
outcomes. For example, to move to 
the countryside for peace.
Avoidance goals, on the contrary, 
have negative outcomes, for example, 
moving out of the city because it is 
noisy and busy.

30.	 Option (4) is correct.
Explanation: In education, motivation 
helps children and young people to 
focus their attention on a key goal or 
outcome which helps in maintaining 
their attention for longer periods. 
Students who are motivated display 
goal-orientated behaviors.
Internal motivation arises out of 
direct enjoyment for engaging in 
each task.
Controlled motivation is a type of 
motivation where an individual acts 
out of the desire for external rewards 
or fear of punishment.
If the student can handle the task 
perfectly then being able to control 
motivates him to engage in such 
types of tasks.

Mathematics and Science
31.	 Option (4) is correct.

Solution: According to distributive 
property,
	 a × (b + c)	 = (a × b) + (a × c)
Here,
	 –25 × (7 + 3)	 = –25 × 7 + (–25) × 3
		  = (–175) + (–75)
		  = –250
		  = –25 (10)
		  = –25 × 10
		  = –250

32.	 Option (3) is correct.
Solution: According to Roman 
numerals,
L = 50, I = 1, V = 5, X = 10, C = 100, 
D = 500, M = 1000
Here,	 LXIII	 = 50 + 10 + 1 + 1 + 1
			   = 63
		  XCII	 = (100 – 10) + 1 + 1
			   = 90 + 2 = 92
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LC does not represent any Roman 
numeral.We can subtract the near by 
number from the left.
As we know,
		  L	 = 50
and 		 C	 = 100.
Now, we have to subtract C from L 
to get digit.
			   50 – 100
According to the rule,the result 
should not be less than (1/10)th of 
greater number.
So,we can’t write LC.
		  XLIV	 = (50 – 10) + (5 – 1)
			   = 40 + 4 = 44

33.	 Option (2) is correct.
Solution: 
Concept: When we divide LCM of 
two numbers by HCF of two numbers, 
it gets divided completely. It doesn’t 
leave any remainder.
When 250 ÷ 20, we get 10 as 
remainder.

34.	 Option (4) is correct.
Solution:

		
2

1
3 	

=
 

( )3 2 1
3

� �

�
� [Mixed fraction]

			 
=

 

7
3

On dividing 7
3  

by
 

2
5

, we get:

			   = 7
3

2
5

÷

			 
=

 

7
3

5
2

×
	

=
 

35
6

35.	 Option (3) is correct.
Solution: If A, B and C are digits, then 
the value of A, B and C are:

	 3	 A	 B
+	 A	 B	 1
	 C	 1	 8

l	 For ones place,it is given that
		  B + 1	 = 8
		  B	 = 8 – 1
		  B	 = 7
l	 For tens place, it is given that
		  A + B	 = 1
	� Putting the value of B = 7 in it, we 

get
		  A + 7	 = 1
		  A	 = 1 – 7
			   = –6� [not possible]
	 \	 A + 7	 = 11� [1 is carry over]
		  A	 = 11 – 7
		  A	 = 4
l	 For hundreds place, it is given that 
		  3 + A	 = C
	 Putting value of A in it, we get:
			   = 3 + 1 + A 
			   = C�
� [1 is carry over 3(add)]
	 ⇒	 4 + 4	 = C
		  C	 = 8

36.	 Option (3) is correct.
Solution:
Annual income of Naresh	
			   = Rs. 5,76,000

Annual savings of Naresh		
			   = Rs. 72,000
Expenditure of Naresh
			   = Annual income�
� – Savings
			   = 5,76,000 – 72,000
			   = ₹ 5,04,000
\	� Ratio of savings to expenditure 

is
			   = 72000 : 504000
			   = 1 : 7

37.	 Option (1) is correct.
Solution: According to question,
		  3x + 5	 = 0
⇒		  3x	 = –5

⇒		  x	 = −5
3

By putting the value x �
��

�
�

�
�
�

5
3  

in x2 
– 3x, we get

⇒		  x2 – 3x	 = 
��

�
�

�
�
� �

��
�
�

�
�
�

5
3

3
5

3

2

			   = 

25
9

15
3

+

			 
=

 

70
9  

or
 
7

7
9

38.	 Option (2) is correct.
Solution: Sum of the expression is:
⇒	 (–3x3y2 + 2x2y3) + (–3x2y3 – 5y4)
⇒	 –3x3y2 + 2x2y3 – 3x2y3 – 5y4

By solving same power coefficients 
together, we get:
⇒	 –3x3y2 + (2x2y3 – 3x2y3) – 5y4

⇒	 –3x3y2 – x2y3 – 5y4

Here, the coefficient of x2 is –y3.
39.	 Option (1) is correct.

Solution: By factorising polynomials, 
we get:
	(x3 – 5x2 – 24x)	 = x(x2 – 5x – 24)
		  = x(x² – 8x + 3x – 24)
		  = x{x(x – 8) + 3(x – 8)}
		  = x(x – 8)(x + 3)	  
� [splitting the middle term]
	 (4x2 – 9y2)	 = (2x)2 – (3y)2

		  = (2x + 3y)(2x – 3y)	  
�[formula used: a2 – b2 = (a + b)(a – b)]
Now, According to question,

	 =
 

( )( )
( )( )

x x x x y
x x x y

3 2 2 25 24 4 9
8 2 3

− − −
− −

	 =
 

x x x x y x y
x x x y

( )( )( )( )
( )( )

� � � �
� �

8 3 2 3 2 3
8 2 3

By cancelling same terms, we get
		 = (x + 3)(2x + 3y)

40.	 Option (1) is correct.
Solution:	 P	 = 3x2 + y2

		  Q	 = 2x2 + 3y2

		  R	 = 4x4 + 5y4

By putting values of P, Q and R in 
equation, we get:
		 = P × Q – R
		 = (3x2 + y2)(2x2 + 3y2) – (4x4 + 5y4)
	 = 3x2(2x2 + 3y2) + y2(2x2 + 3y2)�
�  – (4x4 + 5y4)
		 = (6x4 + 9x2y2 + 2x2y2 + 3y4) �
� – (4x4 + 5y4)

	 = 6x4 + 9x2y2 + 2x2y2 + 3y4 – 4x4	  
� – 5y4

By solving same power together, we 
get:
	 = (6 – 4)x4 + (9 + 2)x2y2 + (3 – 5)y4

	 = 2x4 + 11x2y2 – 2y4

41.	 Option (2) is correct.
Solution: Kite has only 1 line of sym-
metry and no rotational symmetry.
Note:

Line of 
symmetry

Rotational 
symmetry 

order

Parallelogram No 2

Rhombus 2 4

Rectangle 2 2
42.	 Option (2) is correct.

Solution:
	 Angles of a triangle are	 = 3 : 5 : 4
Let the ratio be y
So,	 3y + 5y + 4y	 =180°�
� [Angle sum property of triangle]
⇒		  12y	 = 180°
		  y	 = 15°
Putting value of y to get angles
		  3y	 = 3 × 15
			   = 45°
		  5y	 = 5 × 15
			   = 75°
		  4y	 = 4 × 15
			   = 60°
It is given that the greatest angle is x.
		  x	 = 75°�
� [greatest angle]
Putting value of x in 4x + 9°, we get
⇒	 4(75°) + 9°
⇒	 309°

43.	 Option (3) is correct.
Solution: Let the angle be x
Sum of supplement and compliment 
of x		  = 240°
	 Supplement of x	 = (180° – x)
	 Complement of x	 = (90° – x)
Now, According to question,
⇒	 (180° – x) + (90° – x)	 = 240°
⇒	 180 – x + 90 – x	 = 240°
⇒	 270 – 2x	 = 240°
⇒	 –2x	 = 240 – 270
⇒	 –2x	 = –30
⇒	 x	 = 15°
By putting the value of x in given 
expression 3x – 20°, we get
		  3x – 20°	 = (3 × 15°) – 20°
			   = 45° – 20°
			   = 25°

44.	 Option (2) is correct.
Solution: 

In a hexagonal pyramid,
Number of faces		  = 7
Number of vertices		 = 7
Number of edges		  = 12



Paper-2:  6th January, 2022 �  185
We know that
	 F + V	 = E + 2�
� [Euler’s formula]
So, According to option (2)
	 2F + V – E	 = 9
By putting values, we get:
		  = (2 × 7) + 7 – 12
		  = 14 + 7 – 12
		  = 9
Hence, by trial and error method we 
get answer.

45.	 Option (3) is correct.
Solution: Length of diagonals of a 
rectangle are equal.
So, for rectangle ABCD
		  (6x + 3)	 = (4x + 7)
⇒		  6x – 4x	 = 7 – 3�
� [transpositioning]
		  2x	 = 4
		  x	 = 2
Putting value of x in diagonals, we get
		  (6x + 3)	 = (6 × 2) + 3
			   = 12 + 3
			   = 15
		  (4x + 7)	 = (4 × 2) + 7
			   = 8 + 7
			   = 15
Sum of diagonals			 
			   = 15 + 15
			   = 30

46.	 Option (1) is correct.
Solution: 
Length of sides of triangle
		  = 12 cm, 13 cm, 5 cm
Area of triangle using Heron’s 
formula

		  = S(S )(S )(S )− − −a b c

	 S	 =
 

a b c+ +
2

		
=

 

12 13 5
2

+ +

		  = 15
Now,
	Area	 = 15 15 12 15 13 15 5( )( )( )− − −

		  = 15 3 2 10( )( )( )

		  = 900
		  = 30 cm2

We also know that,
	 Area of triangle

		  = 1
2  

× base × height

So,

	 30	 = 1
2  

× 13 × height

	 Height	 = 30 2
13
×

		
=

 

60
13

		
=

 
4

8
13  

cm

47.	 Option (3) is correct.
Solution: Perimeter of trapezium 
ABCD = 90 cm

Length of non-parallel sides AD and 
BC = 17 cm
	 Area of trapezium	 = 420 cm2

We know that

	 Area of trapezium	 = �1
2  

× sum of 

parallel sides 
× height ...(1)

	Sum of all the sides	 = a + b + c + d
		  = 90
⇒	 a + 17 + c + 17	 = 90
⇒	 a + c + 34	 = 90
⇒	 a + c	 = 56 cm
So, putting values in equation 1, we 
get

	 Area	 = 1
2  

× (a + c) × h

	 420	 = 1
2  

× 56 × h

	 h	 =
 

420 2
56
×

	 h	 = 15 cm
48.	 Option (1) is correct.

Solution:
	 Radius of cylinder	 = 8 cm
Curved surface area of cylinder

		  = ��1
3  

× Total surface area of 

cylinder� [given]
	 Volume	 = ?
Now,

⇒	 2prh	 =
 

1
3  

[2pr(h + r)]

[\ Total surface area of cylinder = 
2pr(h + r) and � Curved surface area 
of cylinder = 2prh]
	Cancelling 2pr from both sides, we 
have 
	 3h	 = h + r
	 3h – h	 = r
	 2h	 = r
⇒	 r	 = 2h

⇒	 h	 =
r
2

		
=

8
2 �

[radius = 8 cm]

		  = 4 cm
	Volume of cylinder
		  = pr2h
		  = p × 8 × 8 × 4
		  = 256p cm3.

49.	 Option (3) is correct.
Solution:
Mean

	

=
Sum of all observations

Total number of observations
Here, mean of the observations 25, 29, 
25, 32, 24 and x is 27.
number of observations = 6

So,	 27	 =
25 29 25 32 24

6
+ + + + + x

	 27
	

=
135

6
+ x

	 x	 = 27 × 6 – 135
		  = 162 – 135
	 x	 = 27
	 Mean	 = 27
For median, we arrange numbers in 
ascending order, 

24, 25, 25, 27, 29, 32
For even number terms, median is 

1

2 2 2
1

n n�
�
�

�
�
� �

�
�
�

�
�
� �

�
�
�

�
�
�

th

 

term

Here n i.e., number of observations 
= 6
Putting n in given formula,we get

th1 6 6 1
2 2 2
    + +    
    

term

	
=

 

1
2  

{3rd+ (3+1)th} term

	
=

 

1
2  

(3rd+4th term)

	
= 

25 27
2
��

�
�

�
�
�

	 = 26
50.	 Option (2) is correct.

Solution:
Probability

	
= 

Number of outcomes
Total number of outcomes

Number from 10 to 60
	 = 51
Numbers that are divisible by 2 and 
3 both
		 = 12, 18, 24, 30, 36, 42, 48, 54, 60
	 = 9
Probability (number chosen in 
divisible by 2 and 3)

	
= 

9
51

	
= 

3
17

51.	 Option (4) is correct.
Explanation: Assessment is the 
feedback provided to the children to 
recognise the lapse in learning and 
providing remedies to do learning 
in an appropriate way. Following are 
the characteristics of the assessment:
(i)	 It should focus on developing 

critical thinking and problem 
solving skills.

(ii)	 It engages students with 
learning process.

(iii)	 It should provide feedback to 
teacher to improve pedagogy.

52.	 Option (2) is correct.
Explanation: Anecdotal records 
are observing students learning 
throughout the session, either 
during or after the lesson by writing 
short notes in a brief narrative style. 
It brings out clear picture of how 
much a student has understood. It 
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is also proven helpful in preparing 
lesson plans and arranging activity 
for students.
Notes:
l	Rubric is a set of guidelines 

which assures that delivery of 
lessons is done in an effective 
way so that students understand 
the standards and mathematical 
concepts.

l	Checklist is a set of rules or 
instructions which examines spe-
cific elements in the part done by 
students.

l	Portfolio is an assembled work 
done by evaluators by analysing 
coursework, learning achieve-
ment, etc.

53.	 Option (3) is correct.
Explanation: According Zoltan Paul 
Dienes theory, mathematics should 
be learnt using games, activities or 
some interest arousing play.
There are 4-principles of Dienes 
theory:
l	Constructivity principle
l	Perceptual variability principle
l	Mathematical variability principle
l	Dynamic principle
Note:
Mathematical variability principle 
figures out that by even manipulating 
concepts or providing attributes, the 
outcomes will be general to students if 
they actively participated in learning 
the concept.

54.	 Option (3) is correct.
Explanation: Fractions is when 
dividing something into equal parts 
whereas ratio is comparing two 
things.
Here, both the statements (b) and (c) 
are correct as in option (a) ,the ratio is 
given but nothing is taken parts from 
whole.

55.	 Option (1) is correct.
Explanation: Van-Hieles theory 
describes how one can understands 
the concept of geometry. He gave 
5 levels of geometrical thinking for 
better understanding.These are as 
follows:
1.	 Visualization
2.	 Analysis
3.	 Abstraction
4.	 Deduction
5.	 Rigor

56.	 Option (4) is correct.
Explanation: Here, the student will 
be able to answers in multiple ways 
in option (4). Student can use creative 
and divergent thinking skills for 
this question. Prior information of 
place values will help to answer it in 
multiple ways.

57.	 Option (3) is correct.
Explanation: The concept of negative 
number is based on magnitude and its 
negative sign both. Integers includes 
all positive, negative numbers and 
zero in it.

58.	 Option (1) is correct.
Explanation: Mathematics anxiety 
occurs in student due to lack of 
processed information and not 
understanding the concept correctly. 
There are methods to address 
mathematical anxiety such as:
1.	 Providing remedial teaching for 

difficulties.
2.	 Diagnosing test to observe the 

learnings.
3.	 Avoiding scoring/numbering to 

address children.
4.	 Not taking term-end 

examinations or by doing in it a 
continuous manner throughout 
the session.

59.	 Option (4) is correct.
Explanation: According to NCF, 2005, 
technology plays an important role 
in learning mathematics. Mathema-
tical concepts can be understood by 
visualization techniques. So, govern-
ment should provide technology 
resources to learn mathematics in a 
explorative way.

60.	 Option (4) is correct.
Explanation: Algebra involves the 
process of generalizing the rules and 
putting it forward to apply them 
in real life situations. It deals with 
representing patterns and regularities 
in our world.

61.	 Option (2) is correct.
Explanation: A horse shoe magnet 
is a strong magnet in which the 
poles are very near to each other to 
generate high power magnetic fields. 
It is a type of permanent magnet 
that produces strong magnetic fields 
between the poles and highest at 
their poles.

62.	 Option (1) is correct.
Explanation: A streamlined body is a 
shape in which it is narrower or sharp 
pointed from front and broader in the 
center part. A ship is always made in 
streamlined shape as to reduce fluid 
drag.

63.	 Option (4) is correct.
Explanation:
l	Physical changes are those in 

which there is change in physical 
properties without disturbing 
chemical compositions. Example: 
pasteurisation of milk, curd is 
churned in centrifuge to separate 

butter, filtration and packing of 
something.

l	Chemical changes are those in 
which there are changes in the 
matter throughout, product 
formed is new and is usually 
irreversible. Example: milk setting 
to be curd, butter heated to get 
clarified butter.

64.	 Option (1) is correct.
Explanation: 
l	Polysterene is used as padding in 

the packaging material for delicate 
items.

l	PVC is used as an outer insulation 
layer for electrical wires.

l	Bakelite is used in manufacturing 
of electrical fittings.

l	Polyester is used in manufacturing 
of bottle and jars.

65.	 Option (2) is correct.
Explanation: To make bulb glow 
dimmer, she should connect one cell 
to a piece of metal wire as power in 
the circuit is directly proportional to 
voltage and current i.e.	 P = IV
[P = Power, I = Current, V = Voltage]

66.	 Option (3) is correct.
Explanation: Here the process is 
anaerobic respiration in which yeast 
breaks down sugar into alcohol and 
carbon dioxide. Anaerobic means 
without oxygen.
l	Yeast is used in making bakery 

product where fermentation is 
required.

l	Carbon dioxide helps in rising the 
volume of the dough, making it 
soft and fluffy.

67.	 Option (1) is correct.
Explanation: According to the phases 
of the Moon,
1.	 On a full moon day: The Earth 

comes in between the Sun and 
Moon. Here, on this we can see 
complete illuminated area of the 
Moon from earth.

2.	 On a new moon day: The Moon 
comes in between the Sun and the 
Earth, also we are not able to see 
the Moon from the Earth.

68.	 Option (2) is correct.
Explanation: Human eye helps us 
to see the world around us. Here are 
some parts of eye and the functions 
they perform:
1.	 Cornea: It helps in protecting the 

eye by preventing dangerous 
particles to enter in. It also 
helps in focussing on light rays 
entering in the eye.
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2.	 Iris: By adjusting its size, it 

controls the amount of light 
which can enter in to the eye.

3.	 Pupil: It is the aperture that 
allows light to enter into eye.

4.	 Retina: It acts as a screen for the 
image as it has large number of 
light sensitive cells.

5.	 Ciliary muscle: It is like the 
support system for the eye 
which holds the lens in position.

69.	 Option (1) is correct.
Explanation: Plants which have 
reticulate venation, they possess tap 
roots.

70.	 Option (1) is correct.
Explanation: Fertilization occurs after 
pollination.It is  a process in which 
sperm cell fuses with egg cell to 
form zygote. This process takes place 
in ovule. After fertilization,ovule 
develops into seed.

71.	 Option (1) is correct.
Explanation: White blood cells are 
the cells that protects the body by 
flighting against disease causing 
organism. They easily changes shape 
to encover the bacteria and prevent 
them to enter in to the blood stream. 
They also work against toxicity 
caused in the body.

72.	 Option (1) is correct.
Explanation: We know that,

	 Density
	

= 
Mass

Volume

	Density of liquid X	 = 
4
1

		  = 4 gm/cm3.

	Density of liquid Y	 = 
M
V

 = 
8

10
		  = 0.8 gm/cm3.

	Density of liquid Z	 = 
6
3

		  = 2 gm/cm3

	 Density of water	 = 1 gm/cm3

Here, density order is 4 > 2 > 1 > 0.8
OR Y < water < Z < X. 

73.	 Option (3) is correct.
Explanation: Loudness is directly 
proportional to the square of the 
amplitude. It does not depend upon 
frequency. So, if we increase the 
loudness of the ringtone of mobile 
phone, it will not cause any change 
in the frequency of ringtone.

74.	 Option (3) is correct.
Explanation: Heat can be transferred 
into 3 modes i.e. conduction, convec-
tion and radiation:
l	Conduction occurs only in solids.
l	Convection occurs in liquids and 

gases.
l	Radiation transfers through 

electromagnetic waves.

75.	 Option (1) is correct.
Explanation: 
l	Metal X is more reactive than Y 

and Z metal as it displaces them 
both i.e. X > Y and Z.

l	Y metal is more reactive than W as 
it displaces it i.e. Y > W.

l	W is more reactive than Z as it 
cannot displaced by it i.e. W > Z.

76.	 Option (1) is correct.
Explanation: 
l	Phosphorus is a non-metallic 

lubricant.
l	Zinc reacts with steam but not 

water.
l	Baking poweder consists of 

sodium, hydrogen, carbon and 
oxygen.

l	Sulphur is used in making of 
gunpowder for fire crackers.

77.	 Option (4) is correct.
Explanation: Pituitary gland is called 
as Master gland as it controls the 
secretion of hormones from ovaries, 
testes, thyroid and adrenal glands. It 
also secretes growth hormone whose 
production increases in adolescence 
period.

78.	 Option (2) is correct.
Explanation: Fungi are both multi-
cellular and unicellular organisms 
that do not have chlorophyll. They 
obtain their nutrients from dead 
and decaying matters. They show 
one similarity with the plants as 
they possess cell wall. Penicillin is 
an antibiotic which is prepared from 
fungi.

79.	 Option (1) is correct.
Explanation: Hepatitis is a viral 
disease caused by consumption of 
contaminated water. It hinders in bile 
production, metabolism, synthesis of 
proteins. It mainly attacks the liver 
tissue.

80.	 Option (2) is correct.
Explanation: 
l	Sandy soil has low water holding 

capacity and high percolation rate 
i.e. it allows water to pass through 
it is very easily. Their particles are 
very large and have high spaces 
between them organic matter 
level is also low.

l	Clayey soil has high water holding 
capacity and very slow percolation 
rate. There particles are very small. 
Aeration is poor but has high level 
of organic matter.

l	Silt has medium water capacity, 
percolation rate and organic 
matter content. They occurs as a 
deposit in river beds.

81.	 Option (2) is correct.
Explanation: Inquiry-based appro-
ach is the process that requires large 
number of question explanation 
through exploration, real-life expe-
riences and problem-solving skills. 

For teaching and learning of science, 
this method is widely used. It allows 
divergent thinking, improves cogni-
tive abilities, encourages innova-tion 
and creativeness among learners. 
Here, students can learn by sitting in 
groups and planning an investigation 
together by understanding concepts 
and solving difficulties of each other.

82.	 Option (3) is correct.
Explanation: Here, by taking students 
to the garden, teacher tries to make 
them observe the height of plants 
comparing to themselves. They have 
to classify the plants and fill in the 
details in appropriate tables.

83.	 Option (3) is correct.
Explanation: ICT i.e. information and 
communication technology brings a 
lot changes in science pedagogy. It’s 
equitable use allows:
1.	 freely use e-learning and virtual 

labs for better understanding.
2.	 It ensures the availability of appr-

opriate multimedia software in 
English and other Indian  langu-
ages.

3.	 It ensures digital access to all sec-
tions of society.

84.	 Option (1) is correct.
Explanation: Process validity is the 
opportunity given to the students to 
construct their knowledge in their 
own way. They should be allowed 
to engage themselves in number of 
ways with the science perspective. 
It could go beyond textbooks and 
restricted approach towards creative 
thinking and constructing their own 
knowledge and concepts.

85.	 Option (3) is correct.
Explanation: For upper primary 
stage, to assess the students for under-
standing in science, teacher should:
1.	 take examination in a continuous 

way.
2.	 have both contextual and 

experiential learning.
3.	 take periodic tests and not only 

pen and paper tests for scoring 
students.

86.	 Option (1) is correct.
Explanation: According to NCF 2005, 
learning science at upper primary 
stage ensures:
1.	 maximum class engagement.
2.	 learning with experiencing.
3.	 relating to real-life situations.
4.	 emphasising on development of 

scientific skills.
5.	 practical knowledge about specific 

technologies should be included.
87.	 Option (2) is correct.

Explanation: According to NEP 2020, 
Science pedagogical aspects are:
1.	 curriculum to be rooted in local 

context.
2.	 scientific temper and evidence 

based thinking to be encouraged.
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3.	 bilingual text books should be 

used for better understanding.
4.	 Experiment should be conducted 

after completing the lesson for 
better understanding.

88.	 Option (2) is correct.
Explanation: The tentative nature 
of scientific knowledge refers to the 
understanding the point that science 
deals with evidence strictly, without 
it nothing can be stated strongly. 
For instance, a teacher holding 
a discussion about limitations of 
Thompson’s model as it can be proven 
using various evidences provided. It 
allows students to think in a creative 
way and acknowledging concepts.

89.	 Option (2) is correct.
Explanation: Observation is the 
most important tool in science 
understanding as it allows learners 
to observe, analyse and think 
accordingly. It involves the perception 
of concepts. Here, Alexander Fleming 
carefully observes spores of a little 
green mould in his culture plates.

90.	 Option (2) is correct.
Explanation: Analogy is the 
comparison of two different yet similar 
kind of things, details or information. 
Here, the teacher enables the students 
to understand the concept of flow of 
current with their own body blood 
flow. Students already knows about 
human circulatory system and now 
they can understand new topic in 
relation with previous information.

Language: English
91.	 Option (2) is correct.

Explanation: The following lines 
from the passage:
“Vaccines work by training and pre-
paring the body’s natural defenses- 
the immune system to recognize 
and fight off the viruses and bacteria 
they target. After vaccination, if 
the body is later exposed to those 
diseases-causing germs, the body is 
immediately ready to destroy them, 
preventing illness.”
It is true to say that both (A) and (R) are 
true and R is the correct explanation 
of (A).

92.	 Option (3) is correct.
Explanation: “Vaccines provide a 
high degree of protection against get-
ting seriously ill and dying from the 
disease, although no vaccine is 100% 
effective”
The above line is self-explanatory. 

93.	 Option (1) is correct.
Explanation: ‘Acute’ means Symp-
toms or signs that begin and worsen 
quickly but last for a brief period; not 
chronic as ‘Chronic’ means a disease 
that continues for a long time.
Curable means a disease that can be 
cured.

Uncurable means a disease that can-
not be cured.
Hence, 'acute' is the word opposite of 
'chronic'.

94.	 Option (3) is correct.
Explanation: “Children and adoles-
cents tend to have a milder infection 
as compared to adults, so unless they 
are a part of a group at higher risk of 
severe COVID-19, it is less urgent to 
vaccinate them than older people.”
Clearly states that (a) is true.
“The COVID-19 vaccines are safe 
for most people 18 years and older, 
including those with pre-existing 
conditions of any kind,”
Hence, statement (b) is also true.

95.	 Option (2) is correct.
Explanation: “Children and adoles-
cents tend to have a milder infection 
as compared to adults, so unless they 
are a part of a group at higher risk of 
severe COVID-19, it is less urgent to 
vaccinate them than older people.”
The above lines from the passage 
state that statement (B) is true.
“The COVID-19 vaccines are safe 
for most people 18 years and 
older, including those with pre-
existing conditions of any kind, 
like autoimmune disorders, hyper-
tension, diabetes, asthma, pulmonary, 
liver and kidney disease, as well as 
chronic infections that are stable and 
controlled.”
The above lines state that statement 
(C) is correct.

96.	 Option (3) is correct.
Explanation: “After vaccination, 
cases, minor side effects: arm 
soreness, mild fever, tiredness, head-
aches, muscle or joint aches, indicate 
that person’s body is building 
protection to COVID -19 infection.”
The above lines state that (a) is false 
and (b) is correct.
“Children and adolescents tend to 
have a milder infection as compared 
to adults, so unless they are a part 
of a group at higher risk of severe 
COVID-19, it is less urgent to 
vaccinate them than older people.”  
The above lines state that option (c) 
is correct.

97.	 Option (3) is correct.
Explanation: “Contact your care 
provider if there is redness or 
tenderness (pain) where you got 
the shot increases after 24 hours, or 
if side effects do not go away after 
a COVID-19 vaccine, you should 
not receive additional doses of the 
vaccine.”
The above lines state that Statement 
(A) and statement (D) are correct.

98.	 Option (2) is correct.
Explanation: ‘Evaluate’ is to assess 
the quality, importance, or value of 
something and then form an opinion.

Hence, ‘assessed’ is the right synonym 
for the word ‘evaluated.’

99.	 Option (2) is correct.
Explanation: An ‘Adverb’ gives added 
information about time, manner, 
place and cause or degree to a verb, an 
adjective, a phrase, or another verb.
‘Off ’ means ‘away from’ in the phrase 
“and fights off the virus.”
Hence, the correct answer is ‘adverb.’

100.	 Option (3) is correct.
Explanation: The mood of the poem 
is defiant.
These lines from the poem:
“How many ways do you have to 
flatten a woman?
But the earth 
And women continue to rise up.”
The poem’s mood sets up as the poet 
says that woman’s desire to express 
or unfurl cannot be suppressed. 
The dominant society may curb it 
repeatedly but her desire will rise 
again.

101.	 Option (3) is correct.
Explanation: The following lines 
from the poem “The Grass is Like Me” 
by Kishwar Naheed:
“Those who can’t endure 
Are patched down into the scorched 
earth 
Merely straw
A path for the oppressors.”
The poet compares herself to grass. 
She is trying to tell us that defeat 
makes the way for the bigger or the 
stronger. Similarly, the women who 
remain recessive, make way for the 
dominant society. 
Hence, submissive women will make 
way for the ‘oppressors.’

102.	 Option (3) is correct.
Explanation: The poem ‘The Grass 
is Like Me’ is a feminist poem by 
Kishwar Naheed.
The poet raises her voice against 
the oppressors in society who keeps 
curbing women’s desire to rise in 
society. The poet is trying to tell us 
that defeat makes the way for the 
bigger or the stronger. 
The defeated grass is cut and fallen 
on the ground. The remaining straw 
makes way for the stronger machine. 
She challenges all women who submit 
to the will and demands of society.
“How many ways do you have to 
flatten a woman? 
But the earth  
And women continue to rise up.”
Hence, it is correct to say that the 
poem’s promise lies in ‘revolutionary 
violence.’

103.	 Option (3) is correct.
Explanation: The titular name "The 
Grass Is Like Me" includes a refrain 
because the line "the grass is like me" 
is repeated throughout the poem. 
It also includes a simile because the 
speaker is comparing themselves to 
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the grass in order to reveal a truth 
about their shared nature. Hence, the 
correct answer is option (3).

104.	 Option (2) is correct.
Explanation: In the phrase:
‘It lifts its head’:
‘Head’ is women and ‘grass’ is 
personified with women.
The poet is states the state of women 
in society is like the way grass is cut 
down and trampled upon only to rise 
again.
Hence, the grass is personified with 
women.

105.	 Option (2) is correct.
Explanation: The poet here uses the 
grass to personify the condition of 
women.
The phrase ‘patched down’ refers to 
those who are suppressed.
The poet says that as soon as a woman 
starts becoming aware and begins 
developing a sense of identity, her 
sense of identity is suppressed by the 
oppressive notions of the patriarchal 
society that she is a part of.
Hence, ‘women with the voice’ is the 
correct answer.

106.	 Option (1) is correct.
Explanation: ‘Brainstorming’ is a 
method that involves the spontan-
eous contribution of creative ideas 
and solutions. This requires uncons-
trained and intensive participation 
in which every member of the group 
is encouraged to think aloud and 
present as many ideas as possible 
based on their diverse knowledge. 
During ‘Brainstorming it is desirable 
to generate as many ideas as possible 
during the session. 
The teacher should ensure that 
the ideas suggested should not be 
criticize, and wild and ambitious 
ideas should be welcome.

107.	 Option (1) is correct.
Explanation: India is a multilingual 
country where many languages and 
dialects are spoken.
Mother tongue is a language that 
children learn by birth. The first 
language the child learned at home 
establishes personal, social, and 
cultural identity.
Education in the mother tongue 
is a key factor for inclusion and 
quality learning, and it also improves 
learning outcomes and academic 
performance. 
This is crucial to avoid knowledge 
gaps and increase the speed of 
learning and comprehension, 
especially in primary school.
Children learn better and faster in 
a language they can understand 
(preventing delays in learning). 
Children tend to show increased self-
esteem and enjoy school more.
The Mother-Tongue Approach should 
inculcate the following: 

n	Listening.
n	Repetition.
n	Step-by-Step Mastery.
n	Memory.
n	Parental Involvement.

108.	 Option (3) is correct.
Explanation: Communicative compe-
tence refers to a learner’s ability to use 
language to communicate success-
fully.
It includes verbal and non-verbal 
behavior.
Communicative Competence refers 
to the unconscious knowledge of 
grammar that allows a speaker to use 
and understand language.
Communication competence is 
needed to understand communi-
cation ethics, develop cultural 
awareness, use computer-mediated 
communication, and think critically.
Competence involves knowledge, 
motivation, and skills.
For example, a competent communi-
cator will engage in turn-taking while 
conversing instead of interrupting.
A teacher would know when it 
is appropriate to ask questions to 
further the conversation and take 
feedback from the receiver to know 
when the conversation is over.
Hence, communicative competence 
allows students to learn grammar 
through meaningful communication.

109.	 Option (1) is correct.
Explanation: Multilinguistic aware-
ness is using or being able to use 
several languages, with equal fluency. 
India is called a multilingual country 
as more than 1600 languages are 
spoken here. 
It is believed that multilinguist 
children develop superior reading 
and writing skills and have better 
analytical, social, and academic skills 
than their unilingual peers.
In a globalizing world, learning a 
new language expands the mind 
and worldview. It opens one to new 
cultures and diversity.
Speaking a second or third language 
will boost confidence and increase 
self-esteem. 

110.	 Option (4) is correct.
Explanation: A paragraph is a series 
of sentences organized and coherent, 
all related to a single topic.
Paragraphs contain three main 
parts: a topic sentence, supporting 
sentences and a concluding sentence.
To write a good paragraph we need to 
consider the following:
Control the idea and create a topic 
sentence.
Elaborate on the controlling idea. 
Give an example (or multiple 
examples) with an explanation.
Complete the paragraph’s idea in the 
next paragraph.

Hence, good paragraph writing in 
English involves ideas, presentation, 
and coherence.

111.	 Option (1) is correct.
Explanation: Language learning is 
most successful when it is internal 
(when the learner desires to learn), 
rather than external motivation. 
‘Cooperative Language Learning’ 
involves heterogeneous grouping 
where students form groups with 
fellow students who are different 
from themselves.
Social skills: The variables on 
which students differ include past 
achievement, social class, nationality, 
ethnicity, religion, sex, diligence, and 
personality
n	Comparing understandings
n	Asking for help
n	Offering suggestions and feedback
n	Responding productively to 

suggestions and feedback 
n	Asking for reasons
n	Providing reasons
n	Disagreeing politely, providing 

specific praise and thanks
n	Attending group functioning
Group formation:
Group formation encourages students 
to look first to their groupmates when 
they need help or want feedback.
They are encouraged to take on some 
of the roles seen as the exclusive 
domain of teachers.
When students help each other 
within their capability, teachers can 
provide help beyond their current 
abilities.
Maximizing two aspects of peer 
interactions. First, the quantity of 
peer interactions increases when 
group activities are used, particularly 
when the number of members in each 
group is kept small
Second, the quality of peer interactions 
increases when students use higher-
order thinking skills.
Individual accountability: 
Individual accountability means 
group members must do their fair 
share in the groups.
Unless students feel accountable, if 
some act as moochers, group morale 
may suffer, and students may lose 
faith in the use of groups for learning 
due to these moochers’ presence.
Positive Interdependence
When students feel positively 
interdependent on groupmates, their 
outcomes are positively correlated, 
i.e., the feeling that what helps one 
helps others, and what hurts one 
hurts others.
Positive interdependence also 
motivates to learn, because of shared 
responsibility among students where 
they are learning for themselves as 
well as for the benefit of their groups. 
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112.	 Option (1) is correct.

Explanation: The interactional Model 
of language’ states that learners can 
benefit from taking part in interaction 
because of a variety of developmentally 
helpful opportunities, conditions, 
and processes.
The Interactionist approach claims 
that if language ability develops out 
of a desire to communicate, then 
one’s environment will heavily affect 
how well and how quickly one learns 
to talk.
Language is people......
Language is a system of conventional 
spoken, manual (signed), or written 
symbols, by which human beings 
express themselves.
A language is a person in contact........
When speakers of two or more 
languages or varieties interact and 
influence each other and when 
speakers of different languages 
interact closely, it is typical for their 
languages to influence each other.
A language is a person in response......
All normal children who grow up in 
normal households, surrounded by 
the conversation of other members 
in the house, in the community 
outside, and among peers, acquire 
the language that is being used 
around them.

113.	 Option (1) is correct.
Explanation: Scanning means exam-
ining everything closely and minutely 
for getting detailed information.
It is a reading technique of reading 
quickly to find specific information.
It is a practice of looking over the 
whole text to get the required idea in 
a brief time.
Hence, scanning is a reading activity 
which helps the learners to draw out 
the desired information from/the text.

114.	 Option (4) is correct.
Explanation: ‘The functional model’ 
of language puts the main emphasis 
on semantic and communicative 
dimensions rather than a grammatical 
characteristic of language as it is linked 
with the concept of communicative 
competence which refers to a lear-
ner’s ability to use language to comm-
unicate successfully.
This communication can be oral, 
written, or non-verbal. It ignores 
the grammatical characteristics of 
language.
It is the skill to use language in real-
life situations to fulfil communicative 
needs.

115.	 Option (2) is correct.
Explanation:
Suggestopedia: This approach is 
based on the power of suggestion 
in learning; the notion being that 
positive suggestion would make the 
learner more receptive and, in turn, 
stimulate learning. 

The Silent Way: It is the name of a 
method of language teaching devised 
by Caleb Gattegno. It is based on 
the premise that the teacher should 
be silent as much as possible in the 
classroom but the learner should 
be encouraged to produce as much 
language as possible.
It is based on the tenet “teaching must 
be subordinate to learning.”
The teacher uses colorful teaching-
learning materials.
A lexical approach: This approach in 
language teaching refers to the belief 
that the building blocks of language 
learning and communication are not 
grammar, functions, notions, or some 
other unit of planning and teaching 
but lexis, that is, words and word 
combinations.
The natural approach: The 
natural approach aims to develop 
communication primarily with 
beginners. It is a set of principles 
that can be applied to a wide range 
of learners and teaching situations, 
and concrete objectives depend on 
the specific context in which it is used.
The correct answer is the ‘silent way.’

116.	 Option (2) is correct.
Explanation: Vertical communica-
tion: It means that information is 
passed from one person to the next 
according to a linear system based on 
their titles.
This type of communication is used 
when a company follows a hierarchical 
structure or for important, sensitive 
information.
The main purpose of a vertical 
communication system is to control 
the flow of information and decision-
making. 
Top-to-down communication usually 
consists of orders, mandates, policy 
decisions, directions, and instruc-
tions.
The advantages of vertical communi-
cation include greater efficiencies, 
reduced costs, and more control along 
the manufacturing or distribution 
process.
Hence, the rule book is an example of 
vertical communication.

117.	 Option (3) is correct.
Explanation: Multicultural education 
helps all students feel inclusive in the 
curriculum and the classroom.
Multicultural education is an idea 
which seeks to create equal educa-
tional opportunities for all students, 
including those from different racial, 
ethnic, and social-class groups.
The goal of multicultural education is 
to advocate for better learning oppor-
tunities, especially for those who are 
marginalized based on the color of 
their skin, or where they come from. 
The goal of multicultural education 
is to lead debate and discussion on 

topics such as educational, economic, 
and social equity.
Multicultural education fosters 
equality, justice, and equity, and it 
establishes the reality of philosophical 
ideals in classroom environments.
In a multicultural classroom, a teacher 
is required to:
Build relationships with students.
Approach students with curiosity.
Foster a growth mindset in the class-
room. 
Help students build Confidence.
Foster inclusion.
Based on the above theories, state-
ments A and B both are correct. 

118.	 Option (3) is correct.
Explanation: Rubrics means a set of 
instructions or rules.
Rubrics are sets of scoring guidelines 
that can provide consistency in 
evaluating student work. 
It allows a teacher to assess students’ 
achievements based on multiple 
criteria using a single rubric.
Analytic rubrics provide more 
detailed feedback to students and 
instructors about their performance.
Scoring is usually more consistent 
across students and graders with 
analytic rubrics.
Students’ writing is evaluated based 
on vocabulary, grammar, composi-
tion, or mechanics. Results are based 
on multiple sub-grades.
The rules for analytical rubrics 
include:
n	To identify the purpose and aims 

of assessing students.
n	To identify what to assess.
n	Select an appropriate type of 

rubric. 
n	To identify the performance 

criteria for assessing student work. 
n	To identify the levels of perfor-

mance.
A holistic rubric:
It consists of a single scale with 
all criteria to be included in the 
evaluation like clarity, organization, 
and mechanics. 
With a holistic rubric, the rater assigns 
a single score (usually on a 1 to 4 or 
1-to-6-point scale) based on an overall 
judgment of the student’s work.
A checklist:
An assessment tool listing the specific 
criteria for the skills, behavior, or 
attitudes that participants should 
demonstrate to show successful 
learning from training.
Hence, to rate each part of a student’s 
product or process, Analytical Rubrics 
are the best method. 

119.	 Option (3) is correct.
Explanation: Metacognition is the 
process of thinking about one’s 
thinking and learning. It is to plan, 
monitor, and assess one’s under-
standing and performance.
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Metacognition includes a critical 
awareness of:
(a)	 One’s thinking and learning 

and,
(b)	 Oneself as a thinker and learner.
Conservation: It is a logical thinking 
ability of a person which determines 
that a certain quantity will remain 
the same despite adjustment of the 
numbers.
Scaffolding:  It provides temporary 
support to an inexperienced learner 
to help them complete a task or 
acquire a skill, and then gradually 
withdraw that support.
Symbolism is when an idea, feeling, 
emotion, or other concept is used to 
represent something else.
Hence, the knowledge that one about 
one’s processes of thinking and the 
ability to monitor thought processes 
is called ‘Metacognition.’ 

120.	 Option (2) is correct.
Explanation: The name ‘cloze’ comes 
from the word ‘closure’, which is an 
idea in Gestalt psychology. 
Cloze words involve letters being 
removed from particular words in a 
passage of text. The child then needs 
to fill these in correctly.
Hence, ‘Cloze question’ is the right 
answer.

Language: Hindi

121.	 fodYi (2) lgh gSA
O;k[;kµ,sfyisaGVk xqQk,¡ ftl Vkiw ij gSa] ml 
Vkiw dk vlyh uke /kkjkiqjh gSA ejkBh Hkk"kk esa 
/kkjkiqjh dk eryc gksrk gS] xqQkvksa dk 'kgjA
,sfyQsVk xqQk,¡ ftl Vkiw ij gSa] ml Vkiw dk 
vlyh uke èkkjkiqjh gS A
xqQkvksa dh dqN ewfrZ;ksa dks jk"VªdwV oa'k us 
Hkh cuok;k FkkA
1535 esa bl Vkiw ij xqtjkr ds lqYrku dk 
jkt FkkA
tc iqrZxkfy;ksa us bl Vkiw ij viuk dCtk 
tek;k rc mUgksaus bldk uke /kkjkiqjh ls 
,sfyQsaVk dsOl uke j[k fn;kA

122.	 fodYi (3) lgh gSA
O;k[;kµejkBh Hkk"kk esa /kkjkiqjh dk vFkZ 
xqQkvksa dk 'kgj gSA ,sfyisaGVk xqQk,¡ ftl Vkiw 
ij gSa] ,l Vkiw dk vlyh uke èkkjkiqjh gSA bu 
xqQkvksa dks Bksl iRFkj dkVdj cuk;k x;k gSA 
Hkkjr esa ejkBh eq[;r% egkjk"Vª esa cksyh 
tkrh gSA blds vfrfjä ;g xksok] d.kkZVd] 
xqtjkr] vka/kz çns'k] e/; çns'k] rfey ukMq 
vkSj NÙkhlx<+ esa cksyh tkrh gSA
ejkBh Hkkjr esa ,d vk;Z Hkk"kk gS tks eq[; :i 
ls egkjk"Vª esa mi;ksx dh tkrh gSA
ejkBh dh eq[; cksyh ekud ejkBh gS vkSj bls 
cksfyHkk"kk dgk tkrk gSA

123.	 fodYi (2) lgh gSA
O;k[;kµ,sfyisaGVk dh xqQk,¡ ftl Vkiw ij gSa] 
mldk vlyh vFkkZr~ okLrfod uke /kkjkiqjh 

gSA bu xqQkvksa dks Bksl iRFkj dkVdj cuk;k 
x;k gSA dgk tkrk gS fd bu xqQkvksa dks ukSoha 
'krkCnh ls rsjgoha rd ds flYgkjk oa'k ds 
jktkvksa us cuk;k FkkA
;g ik"kk.k&f'kfYir eafnj lewg yxHkx 6,000 
oxZ QhV ds {ks= esa QSyk gSA
ftlesa eq[; d{k] nks ik'oZ d{k] çkax.k o nks 
xkS.k eafnj gSaA
bu HkO; xqQkvksa esa lqanj mHkkjkÏfr;ka] 
f'kYikÏfr;ka gSa o lkFk gh fgUnw Hkxoku f'ko 
dks lefiZr ,d eafnj Hkh gSA

124.	 fodYi (4) lgh gSA
O;k[;kµbu xqQkvksa dks ukSoha 'krkCnh ls 
rsjgoha rd ds flYgkjk oa'k ds jktkvksa us 
cuok;k FkkA ;g xqQk,¡ Bksl iRFkjksa dks dkVdj 
cukbZ xb±A
,yhQsaVk xqQk,a if'peh Hkkjr esa ,yhQsaVk  
}hi (ftls vU;Fkk ?kjkiqjh }hi ds :i esa tkuk 
tkrk gS) ij fLFkr gSa] ftlesa ,d ladjh ?kkVh 
ls vyx nks igkfM+;ksa dh fo'ks"krk gSA
pêkuksa dks dkVdj cukbZ xbZ ,yhQsaVk xqQkvksa 
dk fuekZ.k yxHkx ikapoha ls NBh 'krkCnh ds 
e/; esa fd;k x;k FkkA
,yksjk ,yhQsaVk dh xqQkvksa dk fuekZ.k jk"VªdwV 
'kkldksa }kjk fd;k x;k Fkk] tks mPp cslkYV 
[kM+h pêku dh nhokjksa dks dkVdj bls cukus 
ds fy, tkus tkrs gSaA
yxHkx nwljh 'krkCnh bZlk iwoZ ds vklikl] 
czkã.kksa ds }hi ij vkus ls igys] cq¼ dk ,d 
cM+k Lrwi] ftlds pkjksa vksj lkr NksVs Lrwi Fks] 
cukus ds fy,] ,fyQsaVk LFky ij lcls igys 
ghu;ku ckS¼ksa dk dCtk FkkA
fganw xqQkvksa esa pêkuksa dks dkVdj cukbZ xbZa 
iRFkj dh ewfrZ;ka gSa] tks 'kSo fganw laçnk;] tks 
Hkxoku f'ko dks lefiZr gS] dk çfrfufèkRo 
djrh gSaA
1987 esa] bls dykÏfr ds laj{k.k ds fy, 
;wusLdks dh fo'o èkjksgj LFky ?kksf"kr fd;k 
x;k Fkk vkSj orZeku esa bldk çca/ku Hkkjrh; 
iqjkrRo losZ{k.k (ASI) }kjk fd;k tkrk gSA

125.	 fodYi (2) lgh gSA
O;k[;kµiqrZxkfy;ksa dk gkFkh dh ewfrZ ds izfr 
ykijokgh cjrus okyk utÛfj;k FkkA
tc iqrZxkfy;ksa us bl Vkiw ij viuk dCtÛk 
tek;k] rc mUgksaus bldk uke /kkjkiqjh ls 
,sfyisaGVk dsOt (,sfyisaGVk xqQk,¡) j[k fn;kA 
rc ;gk¡ gkFkh dh ,d cgqr cM+h ewfrZ Hkh Fkh] 
blhfy, mUgksaus bls uke fn;k ̂ gkFkh dh xqQk,¡* 
ij iqrZxkfy;ksa us bl ewfrZ dk dksbZ /;ku ugha 
j[kkA
16oha 'krkCnh esa iqrZxkyh ;gka [kkst ds mís'; 
ls vk, FksA ftlds ckn mUgksaus xksok ij dCtk 
dj fy;k FkkA
450 lky rd iqrZxkfy;ksa us xksok ij jkt 
fd;kA

126.	 fodYi (2) lgh gSA
O;k[;kµ;gk¡ gkFkh dh ,d cgqr cM+h ewfrZ Fkh] 
blhfy, bUgksaus bls uke fn;k ̂ gkFkh dh xqQk,¡*] 
ij iqrZxkfy;ksa us bl ewfrZ dk dksbZ /;ku ugha 
j[kkA ftl laHkksokys eaMi esa ;g ewfrZ yxh gqb± 
Fkha] iqrZxkfy;ksa us mls 'kwfVax xSyjh cuk fn;k 
vkSj ,d fnu og ewfrZ fxjdj VwV xbZA ;g 
VwVh gqbZ ewfrZ vc eqEcbZ ds thtkekrk m|ku 
esa j[kh gqbZ gSA

127.	 fodYi (2) lgh gSA
O;k[;kµewfrZ 'kCn tkfrokpd laKk gSA
tkfrokpd laKk
n	 fdlh oLrq] izk.kh ;k LFkku fo'ks"k dh tkfr 

dk cks/k djkus okys 'kCnksa dks tkfrokpd 
laKk dgrs gSaA

n	 lEiw.kZ iztkfr dk cks/k djkrs gSaA
n	 tkfrokpd laKk lnSo cgqopu gksrh gSA
n	 mnkgj.k ds fy,µekuo] i{kh] fdlku] 

efgyk,¡] bR;kfnA
ftl 'kCn ls fdlh çk.kh ;k oLrq dh leLr 
tkfr dk cks/k gksrk gS]mu 'kCnksa dks tkfrokpd 
laKk dgrs gSaA ;Fkk& ?kksM+k] Qwy] euq";] o`{k 
vkfnA
vr% Li"V gS ewfrZ 'kCn tkfrokpd laKk gSA

128.	 fodYi (2) lgh gSA
O;k[;kµ[kaHkksaokys e.Mi ̂ fo'ks"k.k* 'kCn gSA
fo'ks"k.k
n	 laKk vFkok loZuke 'kCnksa dh fo'ks"krk 

crkus okys 'kCnksa dks fo'ks"k.k dgrs gSaA
n	 mnkgj.k ds fy,µdkyk] eksVk] NksVk] 

bR;kfnA
fo'ks"k.k ds izdkj
n	 xq.kokpd fo'ks"k.k
n	 la[;kokpd fo'ks"k.k
n	 O;fDrokpd fo'ks"k.k
n	 loZukfed fo'ks"k.k
n	 ifjek.kokpd fo'ks"k.k

129.	 fodYi (2) lgh gSA
O;k[;kµ^izÏfr dh xksn esa euq"; us lH;rk 
dk fodkl fd;k gS* dk vFkZ gSµeuq"; viuh 
lHkh vko';drkvksa dh iwfrZ ds fy, izÏfr 
ij fuHkZj gSA
euq"; vkSj izÏfr ds chp izkphudky ls gh 
xgjk lEcU/k jgk gSA izÏfr dh xksn esa tUe 
ysdj ekuo us lH;rk dk fodkl fd;k gSA 
çÏfr dh nsu isM+&ikS/ks vkSj ouLifr;k¡ ges'kk 
ls gekjs thou ds fy, vko';d jgs gSaA
çÏfr 'kCn esa ç milxZ dk ç;ksx fd;k x;kA
ewy'kCn Ïfr gSA
Ïfr dk vFkZ jpuk gSA
milxZ dh ifjHkk"kk &og 'kCnka'k ;k vO;;] tks 
fdlh 'kCn ds vkjaHk esa tqM+dj ewy 'kCn ds 
vFkZ esa fo'ks"krk yk ns ;k mldk vFkZ gh cny 
nsA tSlsµv + Nwrk ¾ vNwrk] dq + pkSyk ¾ 
dqpkSyk bR;kfnA
milxZ ds Hksnµ
n	 laLÏr ds milxZ
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n	 fganh ds milxZ
n	 mnwZ ds milxZ
n	 vaxzsth ds milxZ

130.	 fodYi (1) lgh gSA
O;k[;kµiznw"k.k ds ;qx esa isM+&ikS/kksa dh 
mi;ksfxrk vkSj c<+ xbZ gS D;ksafd iznw"k.k ds 
ifj.kkeksa dks mxz gksus ls jksdrs gSaA
dbZ o`{kksa dh Nky vkSj tM+sa vusd izdkj dh 
nokb;k¡ cukus ds dke vkrh gSaA o`{kksa ds egÙo 
dks ns[krs gq, gh gekjs ns'k esa izfro"kZ tqykbZ ekg 
ds izFke lIrkg dks Hkh blh fn'kk esa egÙoiw.
kZ Hkwfedk fuHkkuh gSA tc o`{k gesa Qy] iwGy] 
Nk;k] xkasn] dkxtÛ] ydM+h rFkk vU; vusd 
inkFkZ nsrs gSaA
çnw"k.k 'kCn esa ç milxZ dk ç;ksx fd;k x;kA
ewy 'kCn nw"k.k gSA
nw"k.k dk vFkZ gS& ekjusokykA
milxZ dh ifjHkk"kk &og 'kCnka'k ;k vO;;] tks 
fdlh 'kCn ds vkjaHk esa tqM+dj ewy 'kCn ds 
vFkZ esa fo'ks"krk yk ns ;k mldk vFkZ gh cny 
nsA tSlsµv + Nwrk ¾ vNwrk] dq + pkSyk ¾ 
dqpkSyk bR;kfnA

131.	 fodYi (3) lgh gSA
O;k[;kµo`{k ls gesa IykfLVd izkIr ugha gksrh 
gS D;ksafd IykfLVd ekuo fufeZr gS] blhfy, 
;g izkÏfrd ugha gSA
dbZ o`{kksa dh Nky vkSj tM+sa vusd izdkj dh 
nokb;k¡ cukus ds dke vkrh gSaA o`{k gesa Qy] 
iwGy] Nk;k] xksan] dkxtÛ] ydM+h rFkk vU; 
vusd izko`Gfrd inkFkZ nsrs gSa tks ekuo ds fy, 
ykHknk;d gksrs gSaA
IykfLVd dk vFkZ &Ïf=e ;k v¼Z Ïf=e jhfr 
ls cuk;k x;k ,d inkFkZA

132.	 fodYi (2) lgh gSA
O;k[;kµgekjs ns'k esa ou egksRlo o`{kksa ds 
egÙo ds dkj.k euk;k tkrk gSA
o`{kksa ds egÙo dks ns[krs gq, gh gekjs ns'k esa 
izfro"kZ tqykbZ ekg ds izFke lIrkg dks Hkh blh 
fn'kk esa egÙoiw.kZ Hkwfedk fuHkkkuh gksrh gSA tc 
o`{k gesa Qy] Qwy] Nk;k] xksan] ydM+h bR;kfn 
vusd inkFkZ nsrs gSa rks gesa Hkh mudh j{kk esa 
rRij jguk pkfg,A
ou egksRlo dk mís'; gekjs }kjk ouksa dks mxkus 
vkSj cpkus ds egRo dks QSykuk vkSj ouksa dh 
dVkbZ ds nq"çHkkoksa ds ckjs esa tkx:drk iSnk 
djuk gSA

133.	 fodYi (1) lgh gSA
O;k[;kµ^mi;ksfxrk* 'kCn esa ̂ mi* milxZ gSA
milxZ
n	 ,sls 'kCnka'k tks fdlh 'kCn ds igys tqM+dj 

mlds vFkZ esa ifjorZu dj nsrs gSaA
n	 mnkgj.k ds fy,µmi $ gkj = migkj 

vFkkZr~ HksaVA
n	 milxZ dHkh Hkh vfodkjh 'kCnksa ds lkFk 

ugha tqM+rsA

milxZ ds izdkj
n	 fgUnh Hkk"kk ds milxZ
n	 laLÏr Hkk"kk ds milxZ
n	 fons'kh Hkk"kk ds milxZ
n	 og 'kCnka'k ;k vO;;] tks fdlh 'kCn 

ds vkjaHk esa tqM+dj ewy 'kCn ds vFkZ esa 
fo'ks"krk yk ns ;k mldk vFkZ gh cny nsA 
tSlsµv + Nwrk ¾ vNwrk] dq + pkSyk ¾ 
dqpkSyk bR;kfnA

1.	 laLÏr ds milxZ
2.	 fganh ds milxZ
3.	 mnwZ ds milxZ
4.	 vaxzsth ds milxZ
[kaHkksaokys 'kCn fo'ks"k.k gStks 'kCn laKk vkSj 
loZuke dh fo'ks"krk crkrk gS mls fo'ks"k.k 
dgrs gSa tSls&vPNk yM+dk] cqjk yM+dkA 
bl okD; esa vPNk vkSj cqjk 'kCn fo'ks"k.k gS] 
D;ksafd buesa yM+dk dk fo'ks"krk crk;k tk jgk 
gS yM+dk 'kCn laKk gSA

134.	 fodYi (4) lgh gSA
O;k[;kµ^izFke lIrkg* esa js[kkafdr 'kCn 
fo'ks"k.k gSA
fo'ks"k.k
l	 laKk vFkok loZuke 'kCnksa dh fo'ks"krk 

crkus okys 'kCnksa dks fo'ks"k.k dgrs gSaA
n	 mnkgj.k ds fy,µdkyk] eksVk] NksVk] 

bR;kfnA
fo'ks"k.k ds izdkj
n	 xq.kokpd fo'ks"k.k
n	 la[;kokpd fo'ks"k.k
n	 O;fDrokpd fo'ks"k.k
n	 loZukfed fo'ks"k.k
n	 ifjek.kokpd fo'ks"k.k
fo'ks"k.kµtks 'kCn laKk ;k loZuke 'kCnksa dh 
fo'ks"krk crkrs gSaA
fo'ks"k.k ds eq[;r% vkB Hksn gSaµ
xq.kokpd fo'ks"k.k os 'kCn tks laKk ;k loZuke 
ds xq.k] /keZ] LokHkko vkfn dk cks/k djk;sA 
cy'kkyh] iqjkuk] u;k] rh{.k] detksj] eksVk] 
nqcZy] iBkjh vkfnA
la[;kokpd fo'ks"k.k ,sls 'kCn tks laKk ;k 
loZuke dh la[;k dk cks/k djkrs gSaA nks] rhuksa] 
pkj xquk] çR;sd vkfnA
ifjek.kokpd fo'ks"k.k ,sls 'kCn tks laKk ;k 
loZuke dh ek=k dk cks/k djkrs gSaA pkj fdyks] 
,d ehVj] nks yhVj] FkksM+k] cgqr vkfnA
lkoZukfed fo'ks"k.k os loZuke 'kCn tks laKk 
ls igys vk;sa vkSj fo'ks"k.k dh rjg ml laKk 
'kCn dh fo'ks"krk crk,¡A ;g yM+dh ogh gS 
ftlus esjk isu fy;k FkkA
O;fäokpd fo'ks"k.k ,sls 'kCn tks laKk 
ds Hksn O;fäokpd laKk ls cus gksrs gSa ,oa 
fo'ks"k.k 'kCnksa dh jpuk djrs gSaA tSls & Hkkjr 
& Hkkjrh;] cukjl & cukjlh] bykgckn & 
bykgkcknh vkfnA

ç'uokpd fo'ks"k.k ,sls 'kCn ftudk laKk ;k 
loZuke esa tkuus ds fy, ç;ksx gksrk gSA ;g 
O;fä dkSu gS \
rqyukcks/kd fo'ks"k.k tc oLrqvksa ds xq.k & nks"k 
dh rqyuk vkil esa dh tk;sA og jk/kk ls Hkh 
T;knk lqjhyk xkrh gSA
lEcU/kokpd fo'ks"k.k fo'ks"k.k 'kCnksa dk ç;ksx 
djds fdlh ,d oLrq ;k O;fä dk lEcU/k 
nwljh oLrq ;k O;fä ds lkFk n'kkZ;k tk;sA ?kj 
dh ckgjh nhokj [kjkc gks jgh g

135.	 fodYi (3) lgh gSA
O;k[;kµisM+&ikS/kksa dh j{kk esa gh gekjh j{kk 
gS] D;ksafd ge viuh lHkh vko';drkvksa ds 
fy, izR;{kA vizR;{k :i ls isM+&ikS/kksa ij 
fuHkZj gSaA
euq"; vkSj izÏfr ds chp izkphudky ls gh 
xgjk lEcU/k jgk gSA çÏfr dh xksn esa tUe 
ysdj ekuo us lH;rk dk fodkl fd;k gSA 
izÏfr dh nsu isM+&ikS/ks vkSj ouLifr;k¡ ges'kk 
ls gekjs thou ds fy, vko';d jgs gSaA
vkt iznw"k.k ;qx esa isM+&ikS/kksa dh mi;ksfxrk 
vkSj Hkh c<+ xbZ gSA dbZ o`{kksa dh Nky vkSj tM+sa 
vusd izdkj dh nokb;k¡ cukus ds dke vkrh 
gSaA tc o`{k gesa Qy] Qwy] Nk;k] xksan] ydM+h 
bR;kfn vusd inkFkZ nsrs gSa rks gesa Hkh mudh j{kk 
esa rRij jguk pkfg,A
isM+&ikS/ks esa }U} lekl gSA
nks ;k vf/kd 'kCnksa (inksa) dk ijLij lac¼ 
crkusokys 'kCnksa vFkok çR;;ksa dk yksi gksus ij 
mu nks ;k vf/kd 'kCnksa ls tks ,d LorU= 'kCn 
curk gS] ml 'kCn dks lkekfld 'kCn dgrs gS 
vkSj mu nks ;k vf/kd 'kCnksa dk tks la;ksx gksrk 
gS] og lekl dgykrk gSA
}Un leklµftl leLr&in ds nksuksa in ç/kku 
gks rFkk foxzg djus ij ^vkSj*] ^vFkok*] ^;k*] 
^,oa* yxrk gks og }U} lekl dgykrk gSA
nksuksa inksa ds chp çk;% ;kstd fpÊ (&) dk 
ç;ksx gksrk gSA
}U} lekl esa lHkh in ç/kku gksrs gSA }U} vkSj 
rRiq#"k ls cus inksa dk fyax vfUre 'kCn ds 
vuqlkj gksrk gSA
}U} lekl ds Hksnµ}U} lekl ds rhu Hksn gS&
brjsrj }U}
lekgkj }U}
oSdfYid }U}

136.	 fodYi (2) lgh gSA
O;k[;kµbuesa ls Hkk"kk dh ,d fo'ks"krk ugha 
gS fd Hkk"kk fLFkj gSA
Hkk"kk dh fo'ks"krk,¡
n	 Hkk"kk lkaLÏfrd vuqHkkoksa ij vk/kkfjr gSA
n	 Hkk"kk ,d vftZr vkSj lh[kk gqvk O;ogkj 

gSA
n	 Hkk"kk ;kn`fPNd gSA
n	 Hkk"kk vHkO;fDr dk ek/;e gSA
n	 Hkk"kk cksyus okys dh lkekftd igpku dks 

izdV djrh gSA
Hkk"kk vftZr laifÙk gSA
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Hkk"kk iSr`d lEifÙk gSA
Hkk"kk vuqdj.kh; gksrh gSA
Hkk"kk lkekftd oLrq gSA
Hkk"kk ifjorZu 'khy gksrh gSA
,d le`¼ Hkk"kk dbZ Hkk"kkvksa ds 'kCnksa dks Lo;a 
esa fufgr j[krh gSA
Hkk"kk dk ftruk vf/kd ç;ksx fd;k tk,xk] 
mruk gh Hkk"kk ij idM+ etcwr gksrh tk,xhA
Hkk"kk,¡ ,d&nwljs ds lkfuè; esa Qyrh&Qwyrh 
gSA
Hkk"kk fu;ec¼ O;oLFkk gksrh gSA
Hkk"kk laKkukRed yphysiu ,oa lkekftd 
lfg".kqrk dks Hkh tUe nsrh gSA

137.	 fodYi (2) lgh gSA
O;k[;kµekWfuVj ifjdYiuk esa ;g lqfuf'pr 
fd;k x;k gS fd fo|kFkhZ O;kdj.k ds dkj.k 
fu;eksa dks tkusa vkSj mUgsa izpsru Hkko ls ;kn 
djsaA pkWEldh vkSj LVhQu ØS'ksu nqfu;k ds nks 
lcls izfl¼ Hkk"kkfon~ gSaA ØS'ksu dk ekuuk gS 
fd Hkk"kk vf/kxzg.k ds fy, yf{kr Hkk"kk ds 
lkFk lkFkZd ckrphr dh vko';drk gksrh gSA
ekWfuVj ifjdYiuk
n	 Hkk"kk dh 'kq¼rk ij vf/kd /;ku dsfUær 

djrk gSA
n	 ekWfuVj ifjdYiuk dk Bhd ls mi;ksx djus 

ds fy,] rhu ekudksa ds iwjk fd;k tkuk 
pkfg,µ
l	 vf/kxzg.kdrkZ dks Hkk"kk ds fu;eksa dk 

Kku gksuk pkfg,A
l	 ifjfpr dks Hkk"kk ds lVhd :i ij 

/;ku dsfUær djuk pkfg,A
l	 ckrphr esa Hkk"kk fu;eksa dh leh{kk 

djus vkSj mUgsa ykxw djus ds fy, 
vfèkxzg.kdrkZ dks dqN le; vyx 
j[kuk pkfg,A

Hkk"kk euq";ksa ds fy, lapkj dk çkFkfed lkèku 
gS vkSj nwljh Hkk"kk lh[kuk fofHkUu dkj.kksa ls 
egRoiw.kZ gS] +ftlesa fofHkUu laLÏfr;ksa dks 
le>uk] fofHkUu i`"BHkwfe ds yksxksa ds lkFk 
csgrj lapkj vkSj ;gka rd fd ukSdjh çkIr 
djuk Hkh 'kkfey gSA
LVhQu ØS'ku Hkk"kk foKku ds {ks= esa ,d 
fo'ks"kK gSa] tks Hkk"kk vf/kxzg.k vkSj fodkl ds 
fl¼karksa esa fo'ks"kKrk j[krs gSaA mUgksaus f}rh; 
Hkk"kk vf/kxzg.k dk fl¼kar fn;k tks O;kid 
:i ls tkuk tkrk gS vkSj vPNh rjg ls Lohdkj 
fd;k tkrk gSA
nwljh Hkk"kk vf/kxzg.k ds ØS'ku ds fl¼kar esa 
ikap eq[; ifjdYiuk,a 'kkfey gSaµ
vf/kxzg.k&lh[kus dh ifjdYiuk
ekWfuVj ifjdYiuk
buiqV ifjdYiuk
çHkkoh fuLianu​ ifjdYiuk
çkÏfrd vkns'k ifjdYiuk
ekWfuVj ifjdYiuk&ekWfuVj ifjdYiuk dk 
nkok gS fd ,d f'k{kkFkhZ dh lh[kh gqbZ ç.kkyh 
,d ekWfuVj ds :i esa dk;Z djrh gS fd os 

D;k mRiknu dj jgs gSaA nwljs 'kCnksa esa] tcfd 
dsoy vf/kxzghr ç.kkyh gh lgt Hkk"k.k mRiUu 
djus esa l{ke gS] lh[kh gqbZ ç.kkyh dk mi;ksx 
;g tkapus ds fy, fd;k tkrk gS fd D;k cksyk 
tk jgk gSA
blls igys fd f'k{kkFkhZ dksbZ mPpkj.k djs] 
og =qfV;ksa ds fy, vkarfjd :i ls mls LdSu 
djrk gS] vkSj lq/kkj djus ds fy, lh[kh xbZ 
ç.kkyh dk mi;ksx djrk gSA Lo&lq/kkj rc 
gksrk gS tc f'k{kkFkhZ fdlh okD; ds mPpkj.k ds 
ckn mls lgh djus ds fy, ekWuhVj dk mi;ksx 
djrk gSA ifjdYiuk ds vuqlkj] bl rjg dh 
vkRe&fuxjkuh vkSj vkRe&lq/kkj dsoy lpsr 
Hkk"kk lh[kus ds dk;Z gSaA
blds varxZr fo|kFkhZ O;kdj.k ds fu;eksa dks 
tkuus dk ç;Ru djrk gS vkSj mUgsa lpsru Hkko 
ls ;kn djrk gSA
ekWfuVj ekWMy rc cPpksa dh rqyuk esa o;Ldksa 
}kjk rsth ls çkjafHkd çxfr dh Hkfo";ok.
kh djrk gS] D;ksafd o;Ld bl ^ekWfuVj* dk 
mi;ksx çkÏfrd çn'kZu dh {kerk gkfly djus 
ls igys L2 (yf{kr Hkk"kk) mPpkj.k dk fuekZ.k 
djrs le; djrs gSa] vkSj o;Ld f'k{kkFkhZ cPpksa 
dh rqyuk esa igys ckrphr esa vfèkd buiqV 
djsaxsA

138.	 fodYi (2) lgh gSA
O;k[;kµlexz Hkk"kk i¼fr dk fopkj 
ckWVe&vi iBu fl¼kUr ds lEcU/k esa 
izfrfØ;k Loi:i lkeus vk;k gSA
ckWVe&vi fl¼kUr
n	 ckyd vFkks± ;k O;kdj.k lEcU/kh 

fo'ks"krkvksa dks ns[kdj Hkk"kk dks le>us 
dk iz;kl djrk gSA

n	 /ofu;ksa vkSj okD;ka'kksa ij /;ku dsfUær 
djrk gSA

n	 ;g lwpuk izlaLdj.k gSA
lquus dh dbZ j.kuhfr ;k çfØ;k gS tks lquus 
vkSj vU; xfrfofèk;ksa dks jkspd cukrh gS tks 
v/kkseq[kh (VkWi&Mkmu) Jo.k çfØ;k rFkk 
ckWVe&vi Jo.k çfØ;k gSµ
ckWVe&vi Jo.k ;qfä;k¡µ;g çfØ;k ,d 
fgLls ls nwljs fgLls rd tkrh gSA ;g /ofu;ksa 
ls 'kCnksa] okD;ka'kksa] [kaMksa vkSj vU; O;kdjf.
kd rRoksa rd tkus okys ikB dh O;k[;k djus 
ij dsafær gSA
ckWVe&vi Jo.k ;qfä;k¡ ,d çdkj dh lwpuk 
çlaLdj.k gS tks ,d /kkj.kk cukus ds fy, 
i;kZoj.k ls vkus okys MsVk ij vkèkkfjr gSA
lquus esa ckWVe&vi çkslsflax] fof'k"V ckjhfd;ksa 
tSlsµ/ofu;ksa ls 'kCnksa] okD;ka'kksa] [kaMksa vkSj 
vU; O;kdjf.kd rRoksa ls okD;ksa esa tkus okys 
lans'kksa dks lquus dh çfØ;k gSA
;g lexz :i ls ikB ds vFkZ ds ctk; O;fäxr 
/ofu;ksa] 'kCnksa vkSj okD;ka'kksa ij /;ku dsafær 
djrk gSA
ckWVe&vi çkslsflax rc gksrh gS tc dksbZ 
O;fä okD; dh lcls cqfu;knh bdkb;ksa 

ds vyx&vyx vFkks± ;k O;kdj.k laca/kh 
fo'ks"krkvksa dks ns[kdj Hkk"kk dks le>us dh 
dksf'k'k djrk gS] (tSls lquus ds fy, /ofu ;k 
i<+us ds fy, 'kCn)] vkSj buls vkxs c<+dj 
laiw.kZ dks le>us dh dksf'k'k djrk gSA
ckWVe&vi Jo.k ;qfä;ks ds varxZr fdlh 
fo"k; dks lqurs le; ml ij Ldhek lqftr 
djus ds fy, eq[; fcUnqvksa dk bLrseky fd;k 
tkrk gS vkSj fu"d"kZ fudkyk tkrk gSA​

139.	 fodYi (4) lgh gSA
O;k[;kµd{kk VII dh f'kf{kdk f'k{kkfFkZ;ksa 
dks Hkk"kk ds dqN okD;ka'k nsrh gS tSlh fd ßeSa 
Bhd gw¡AÞ] ßesjs vuqlkjÞ ßD;k ekeyk gSAÞ] 
bR;kfnA og d{kk esa dks'k fo"k;d mikxe 
viukrh gSA
dks'k fo"k;d mikxe
n	 ekbdy ysfol }kjk bl mikxe dks 

izfrikfnr fd;k x;kA
n	 ;g lEizs"k.kh; vkSj vfHkO;atd 'kfDr 

iznku djrh gSA
n	 O;kdj.kh; fu;eksa ij tÛksj fn;k tkrk gSA
Hkk"kk lh[kuk Hkk"kk lh[kus ds ewyHkwr dkS'ky 
dh csgrj le> ds fy, tkucw>dj vkSj lpsr 
ç;kl dk ifj.kke gSA ;g O;kdjf.kd fu;eksa 
vkSj lapkj esa muds mi;ksx dk ,d cqfu;knh 
Kku gSA
dks'k fo"k;d mikxe (lexical approach) 
ekbdy ysfol (1993) }kjk çLrkfor] dks'k 
fo"k;d mikxe nwljh Hkk"kk f'k{k.k ds 
O;kdj.k&vk/kkfjr mikxe ds fodYi ds :i 
esa mHkjk gSA bldk dsaæ f'k{kkfFkZ;ksa dh n{krk 
dk fodkl gSA ;g mikxe 'kCndks"k ij fo'ks"k 
/;ku nsrk gS tks O;fä;ksa dks fdlh fo'ks"k lanHkZ 
esa çHkkoh <ax ls laokn djus esa enn djrk gSA
dks'k fo"k;d mikxe] 'kCn vkSj 'kCn la;kstu 
ds lkFk f'k{kkFkhZ dh n{krk fodflr djus ij 
dsafær gSA
dks'k fo"k;d mikxe esa u dsoy ,d 'kCn 
cfYd 'kCn la;kstu Hkh 'kkfey gSa ftUgsa yksx 
vius ekufld 'kCndks"k esa laxzghr djrs gSaA
;g mikxe ns'kh oäkvksa dh Hkk"kk esa cgq&'kCn 
bdkb;ksa ;k 'kkfCnd fo[kaMks dh O;kid ?kVuk 
gSA
bl fof/k esa 'kCnksa ds lewg ds çfr le> dk 
fuekZ.k fd;k tkrk gSA
fdlh Hkh Hkk"kk esa dks'k fo"k;d okD;ka'k 
O;kdjf.kd lajpukvksa dh rqyuk esa vf/kd 
laçs"k.kh; vkSj vfHkO;atd 'kfä çnku djrs gSaA

140.	 fodYi (3) lgh gSA
O;k[;kµog iz'u tks f'k{kkfFkZ;ksa dks iBu 
lkexzh dks i<+us tSls fn, x, fuos'k ls vkxs 
tkus esa leFkZ cukrs gSa] mls nwljs ds LFkku ij 
Lo;a dks j[kus ls tqM+s iz'u dgrs gSaA
eq[; fcUnq
n	 blesa jpukRed ys[ku dks c<+kok fn;k tkrk 

gSA
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n	 blds }kjk ckyd ds okLrfod Kku esa o`f¼ 

gksrh gSA
n	 blls iBu dkS'ky fodflr gksrk gSA
Hkk"kk lh[kus ds lUnHkZ esa çkekf.kd xfrfof/
k;k¡ okLrfod thou dh fLFkfr;ksa ls lacaf/kr 
gksrh gSaA ;g d{kk lh[kus dks Nk= ds nSfud 
thou ls tksM+rk gS vkSj jpukRed ys[ku dks 
c<+kok nsrk gSA
f'k{kkfFkZ;ksa ls 'xk;' ij ,d iSjkxzkQ fy[kus ds 
fy, dguk Hkk"kk lh[kus ds fy, ,d çkekf.kd 
xfrfof/k ugha gS D;ksafd ;g jpukRed ys[ku 
dks c<+kok ugha nsxk vkSj ekStwnk Kku ds vk/kkj 
ij vklkuh ls fy[kk tk ldrk gSA
ckdh fodYi çkekf.kd lkexzh ds ek/;e ls 
gksus okyh çkekf.kd xfrfof/k;ksa ds mnkgj.k gSaA 
;s lkexzh f'k{kkfFkZ;ksa dh vko';drkvksa ls vf/
kd fudVrk ls lacaf/kr gSa vkSj mUgsa lh[kus ds 
fy, çklafxd lkexzh dk lzksr çnku djrh gSaA
;s xfrfof/k;k¡ f'k{kkfFkZ;ksa dks mPp Lrjh; lksp 
dkS'ky dk mi;ksx djus ds fy, çsfjr djsaxhA 
;s dk;Z Nk=ksa dks lfØ; :i ls lkspus] laca/k 
cukus vkSj fu"d"kZ fudkyus dh Hkh vuqefr 
nsaxsA

141.	 fodYi (3) lgh gSA
O;k[;kµv vkSj c nksuksa lgh gSaA
v	 vdknfed Hkk"kk fo'ks"krkvksa dh 

fo'ks"krk gS tks vdknfed fo"k;ksa ds 
fy, fof'k"V gSA

c	 vdknfed Hkk"kk ds {ks= esa O;kdj.k] 
'kCnkoyh vkSj Hkk"kk ds lHkh fo"k; {ks=ksa 
ds foe'kZ gSaA

vdknfed Hkk"kk vkSipkfjd Hkk"kk gSA
vdknfed Hkk"kk fo'ks"krkvksa dh fo'ks"krk gS tks 
vdknfed fo"k;ksa ds fy, fof'k"V gSA
vdknfed Hkk"kk dk ifjp; d{kk f'k{k.k ds 
nkSjku gksrk gSA
vdknfed Hkk"kk ds {ks= esa O;kdj.k] 'kCnkoyh 
vkSj Hkk"kk ds lHkh fo"k; {ks=ksa ds foe'kZ gSaA
vdknfed Hkk"kk dks ys[ku] çdk'ku vkSj 
f'k{k.k ds ek/;e ls LFkkfir djrs gSA
vdknfed Hkk"kk dk ç;ksx d{kk ds dk;Z] 
x`gdk;Z esa djrs gSA
f'k{kkFkhZ vdknfed Hkk"kk fo"k; dh iqLrdksa] 
f'k{kdksa ls xzg.k djrs gSA

142.	 fodYi (3) lgh gSA
O;k[;kµfp= cks/k i<+us ds dkS'ky dks c<+kok 
nsus ds fy, izHkko'kkyh gSA
eq[; fcUnq
n	 blds }kjk vuqefud dkS'ky dks fodflr 

fd;k tkrk gSA
n	 ekSu iBu ij cy fn;k tkrk gSA
n	 fo"k;oLrq dks le>us dh le> dks 

fodflr fd;k tkrk gSA
ckydksa dks i<+us ds fy, fuEu çdkj çf'kf{kr 
djus dh vko';drk gksrh gS&
n	 xfr ds lkFk i<+us dh {kerk dk fodkl 

djus ds fy,] ;g lqfuf'pr djuk 

vko';d gS fd fdlh vuqPNsn dks i<+us 
esa fdruk le; yxsxkA

n	 blds fy, f'k{kd dks ;g Li"V djuk gksxk 
fd ekSu iBu djrs gq, 'kCnksa dks QqlQqlkuk 
;k cqncqnkuk ugha gSA

n	 vks"B&lapkyu fcYdqy ugha gksuk gSA
n	 vk¡[kksa dks ,d 'kCn lewg ls nwljs 'kCn lewg 

rd lapyu dk çf'k{k.k nsuk pkfg,A
n	 ikBd dk çR;sd 'kCn ij /;ku dsafær djuk 

vFkok v{kj tksM+dj i<+uk vfuok;Z ugha 
gSA

n	 iBu fØ;k bruh xfr ds lkFk gksrh gS fd 
ckyd fo"k; oLrq dk vuqeku yxkrs gq, 
i<+rk gSA

143.	 fodYi (1) lgh gSA
O;k[;kµfdlh ,d Hkk"kk dh d{kk ds fy, 
y{; Hkk"kk dh vkÏfr;ksa vkSj vFkks± ds chp 
lEcU/k LFkkfir djuk lcls vfèkd mi;qDr gSA
,d Hkk"kk dh d{kk
n	 dqN fuf'pr ifjfLFkfr;k¡ nsdj] dqN iz'u 

izLrqr djukA
n	 vius vuqHkoksa dks lk>k djukA
n	 v/;kid dks f'k{kkfFkZ;ksa ds iwoZ Kku ,oa 

vuqHko dk mfpr vkadyu dj mldk 
leqfpr iz;ksx f'k{k.k vf/kxe izfØ;k esa 
djuk pkfg,A

fuEufyf[kr fof/k;k¡ cPps dks iBu dkS'ky 
çkIr djus esa enn djrh gSaµ
'kCn fof/kµ;g fof/k iwjs 'kCnksa dks igys /
ofu;ksa esa rksM+s fcuk muds vFkks± ls tksM+rh gSA
;g fof/k cgqr ls ,sls 'kCnksa ds fy, cgqr 
mi;ksxh gS ftudh orZuh mudh /ofu;ksa ls esy 
ugha [kkrh] tSls fd vaxzsth esa ^n*] ^lsn* ;k 
^Ogsu*A
cPpk 'kCnksa dks vyx&vyx v{kjksa ;k v{kjksa 
ds lewg esa rksM+us ds ctk; 'kCnksa dks iwjh 
bdkb;ksa ds :i esa i<+rk gSA
o.kZekyk fof/kµbl i¼fr esa] fp=ksa vkSj 
ekWMyksa dh lgk;rk ls v{kjksa dk ifjp; djk;k 
tkrk gS vkSj fQj Nk=ksa dks bu v{kjksa dh /ofu 
ls ifjfpr djk;k tkrk gSA
v{kjksa dh /ofu dks le>us ds ckn Nk= v{kj 
dks mldh /ofu ls vklkuh ls igpku ldrs gSaA
/oU;kRed fof/kµbl fof/k esa v{kjksa dh /
ofu dh lgk;rk ls ge 'kCnksa dk mPpkj.k 
djrs gSaA
tSlsµ/oU;kRed i¼fr esa ge dsoy ̂ vk* vkSj 
^e* dh /ofu;k¡ gh cksysaxs vkSj bu nksuksa /ofu;ksa 
dks feykdj ge 'kCn ^vke* cuk,axsA
okD; fof/kµbl i¼fr esa] igys okD;ka'kksa 
vkSj okD;ksa ij /;ku fn;k tkrk gS] fQj muds 
ekSf[kd vkSj o.kkZuqØfed ?kVd fp= esa vkrs 
gSaA
bl çdkj ;g Li"V gS fd y{; Hkk"kk dh 
vkÏfr;ksa vkSj vFkks± ds chp laca/k LFkkfir 
djuk ,d Hkk"kk dh d{kk ds fy, lcls vfèkd 
mi;qä gSA

144.	 fodYi (1) lgh gSA
O;k[;kµizHkko'kkyh lEizs"k.k ds fy, izs"kd 
dks lquus okyh dh lkekftd&vkfFkZd fLFkfr 
ij /;ku ugha nsuk pkfg, FkkA
izHkko'kkyh lEizs"k.k
n	 lquus okys dk KkuA
n	 lquus okys dh #fpA
n	 lquus okyh dh laLÏfr vkSj lkekftd 

jhfr;k¡A
n	 fopkjksa o lwpukvksa dk vknku&iznku 

djukA
n	 izsf"kr lUns'k dk izkIrdrkZ }kjk vFkkZiu 

fd;k tkrk gSA
lkekftd txr ls ge vius lekt dks le>rs 
gSa] ,d nwljs dh Hkkoukvksa ds vknku çnku dk 
ek/;e Hkk"kk rFkk lEçs"k.k gSA
lEçs"k.k dh Hkk"kk esa ;kn`fPNd txr] bZ'ojh; 
txr rFkk vifo= txr 'kkfey ugha fd;s tk 
ldrsa D;ksafd buesa Hkk"kk ds vknku çnku dh 
eq[; Hkwfedk ugha gksrh gSA
lEçs"k.k nks ;k nks ls vf/kd O;fä;ksa ds chp 
ekSf[kd] fyf[kr] lkadsfrd ;k çrhdkRed 
ek/;e ls fopkj ,oa lwpukvksa ds çs"k.k 
dh çfØ;k gSA lEçs"k.k gsrq lUns'k dk gksuk 
vko';d gSA
lEçs"k.k esa vko';d rRo
n	 çs"kd (lUns'k Hkstus okyk)
n	 çs"k.kh (lUns'k çkIrdrkZ)
n	 lUns'k

145.	 fodYi (4) lgh gSA
O;k[;kµ,d Hkk"kk ls nwljh Hkk"kk esa tkuk 
(VªkUlySaXost) ds ckjs esa ;g lgh ugha gS fd 
;g fo|kfFkZ;ksa dks ,d Hkk"kk ds iz;ksx rd 
lhfer djrk gSA
VªkUlySaXost
n	 Hkk"kkvksa ds chp vuqoknA
n	 ,d gh cksyh tkus okyh ;k fyf[kr 

vfHkO;fDr esa fofHkUu Hkk"kkvksa ds 'kCnksa 
dk feJ.kA

n	 ;g cgqHkk"kkokn dks leqUur djrk gSA
n	 f'k{kd dqN 'kCnksa ;k /ofu;ksa dh tfVyrk 

dks gy djus ds fy, Hkk"kk dh lekurk 
vkSj fHkUurk dh rqyuk vkSj foijhr djus 
ds fy, Hkk"kk vuqokn dk Hkh mi;ksx dj 
ldrs gSaA

n	 f}Hkk"kh xzUFkkssa ls iBu dkS'ky fodflr gksrk 
gSA

^VªkUlySaX;qftax* djuk yphyk cgqHkk"kkokn 
gSA pkgs blesa vyx&vyx Hkk"kkvksa ds rRoksa 
dks ,d gh mPpkj.k ^dksMfLofpax* esa 'kkfey 
djuk gks ;k fdlh dk;Z ds fofHkUu fgLlksa esa 
Hkk"kkvksa ds chp ckjh&ckjh ls 'kkfey gksuk 
gks] ;g fdlh ds Hkk"kkbZ lalk/kuksa dks muds 
vf/kd çHkkoh <ax ls fu;ksftr djus dk ,d 
çkÏfrd lk/ku gSA
;g lHkh Hkk"kkvksa dks lEeku nsrk gSA
;g lHkh Hkk"kkvksa esa ckr djus dh vuqefr 
nsrk gSA
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cgqHkkf"kd tkx:drk dks c<+kok nsrk gSA

146.	 fodYi (3) lgh gSA
O;k[;kµfcUnq (b), (c) o (d) lgh gSA
NBh d{kk ds dqN fo|kFkhZ lh[kus dh v{kerk 
ls ihfM+r gSaA ml d{kk ds f'k{kd gksus ds ukrs 
ge d{kk dks bl izdkj lekos'kh cuk,¡xsµ
n	 fo"k;&oLrq dks lkexzh dh lgk;rk ls 

izLrqr djdsA
n	 mUgsa d{kk ds vU; lHkh fo|kfFkZ;ksa ds lkFk 

feykdjA
n	 mUgsa d{kk dh ftEesnkfj;ksa esa 'kkfey 

djdsA

147.	 fodYi (1) lgh gSA
O;k[;kµ,d d{kk esa ,d fo|kFkhZ vius 
lkfFk;ksa ls fgUnh esa ckr dj jgh FkhA tc 
mlds f'k{kd us cqyk;k rks rqjUr mUgsa vaxzsth esa 
viuh izfrfØ;k O;Dr dhA ;g dksM fLofpax 
dk mnkgj.k gSµ
dksM fLofpax
n	 bls Hkk"kk ifjorZu ds uke ls Hkh tkuk tkrk 

gSA

n	 blesa ,d oDrk ,d okrkZyki ;k fLFkfr ds 
lUnHkZ esa nks ;k mlls vf/kd Hkk"kkvksa ds 
chp oSdfYid iz;ksx djrk gSA

n	 ;g cgqHkk"kkokn ls vyx gSA blesa dbZ 
Hkk"kkvksa dk mi;ksx djus dk dk;Z fd;k 
tkrk gSA

n	 ,d lkekftd lewg ds lkFk ,dtqVrk 
O;Dr djus ds lk/ku ds :i esa vYila[;d 
Hkk"kk ij fLop djuk cgqr vke gSA

148.	 fodYi (2) lgh gSA
O;k[;kµO;fDrfu"B ijh{k.k LoHkkfod :i 
ls Hkk"kk dkS'kuksa dks ekirk gS vkSj ftlesa iw.kZ 
rkfdZd Li"Vhdj.k dh vko';drk gksrh gSA 
iz'ukoyh] lk{kkRdkj bR;kfn fof/k O;fDrfu"B 
ijh{k.k ds midj.k gSa mÙkjnkrkvksa ds iwokZxzg 
dks lekIr djus esa lgk;d ijh{k.k gSA

149.	 fodYi (1) lgh gSA
O;k[;kµd{kk VIII dh f'kf{kdk viuh d{kk 
dks ik¡p&ik¡p ds lewg esa ck¡Vdj mudh #fp 
ds vuqlkj fo"k;&oLrq dk foLrkj djus okyh 
vyx&vyx Fkhe nsrh gSA lewgksa dks mlls 

lEcfUèkr fopkjksa rFkk lwpuk dks ,df=r djus] 
yksxksa dk lk{kkRdkj ysus rFkk mls le>dj 
fjiksVZ fy[kus ds fy, dgk x;k gSA fo|kfFkZ;ksa 
dks layXy djus okyh bl xfrfof/k dks 
ifj;kstuk dk;Z dgsaxsA

150.	 fodYi (2) lgh gSA
O;k[;kµHkkjr dh ^f'k{kk esa Hkk"kk uhfr* 
f=Hkk"kk lw= ds :i esa tkuh tkrh gSA
f=Hkk"kk lw=
n	 ;g rhu Hkk"kkvksaµfgUnh] vaxzsth vkSj 

lEcfU/kr jkT;ksa dh {ks=h; Hkk"kk ls lEcfU/
kr gSA

n	 igyh Hkk"kk ekr`&Hkk"kkA
n	 nwljh Hkk"kk vU; vk/kqfud Hkkjrh; Hkk"kk 

(fgUnh ;k vaxzsth)A
n	 rhljh Hkk"kk vaxzsth ;k ,d vk/kqfud 

Hkkjrh; Hkk"kkA


